
General Intelligence & Reasoning

1. Study the given pattern carefully and select number that can 
replace the question mark (?) in it.
(17, 9, 4) (13, ?, 7) (14, 3, 13)
1. 10 2. 2 3. 12 4. 15

2. Study the given pattern carefully and fi nd the missing number.
(9, 9, 2) (8, __, 1) (4, 8, 8)
1. 11 2. 8 3. 6 4. 1

3. In a certain code language, PHONE is coded as 78 and MOON 
is coded as 52. How will PLAN be coded in that language?
1. 43 2. 98 3. 65 4. 66

4. Study the given pattern carefully and select the number that can 
replace the question mark (?) in it.

125 25 10
216 49 13
27 121 ?

1. 16 2. 8 3. 12 4. 14
5. Horse E was running ahead of horse D in the middle of the race. 

Horse C was ahead of horse A but behind horse B. Horse A was 
running ahead of horse E. From this point on, the fourth-placed 
horse took the lead and won the race. If the positions of the 
other horses remained the same, which horse was in the middle 
at the end of the race?
1. C 2. E 3. B 4. A

6. If the fi rst half of the given letter series is reversed, then which 
of the following will be the third letter to the left of the eighth 
letter from the right?
A U R R g h r s w c g i o p d s q t
1. U 2. W 3. A 4. R

7. A cyclist travels towards the east for 2 km and then turns left 
to travel 1 km. From there, he turns left and travels another 
800 metres to reach a tea junction. After a short break, he turns 
towards the south and travels for 500 meters. From there, he 
turns right and travels for 1.2 km. Finally, he turns right and 
travels for 1 km. In which direction is he from his starting 
position.
1. West 2. North 3. South 4. East

8. Which of the following equations will be correct when the signs 
× and ÷ and the numbers 12 and 9 are interchanged?
1. 12 + 8 × 9 + (24 ÷ 5 + 8) – 7 = 35
2. 9 × 17 + 5 (24 ÷ 9) – 12 = 46
3. 14 ÷ 12 + 10 (12 – 6) × 9 = 37
4. 10 + 2 ÷ 3 + (24 × 9 + 8) – 12 = 17

9. Read the given statements and conclusions carefully. Assuming 
that the information given in the statements is true, even it 
appears to be at variance with commonly known facts, decide 
which of the given conclusions logically follow(s) from the 
statements.
Statements:
1. No city is a district.
2. Some districts are zones.
3. Some zones are states.

Conclusions:
I. Some zones are districts. II.  Some districts are cities.
III. No state is a zone.
1. Only conclusions I and II follow
2. Only conclusion II follows
3. Only conclusions I and II follow
4. Only conclusion I follows

10. Select the option that is related to the third letter-cluster in the 
same way as the second letter-cluster is related to the fi rst letter-
cluster.
Durdg : efjvz :: jgfsgr : ?
1. kijnvx 2. gijnwy 3. gjjnvx 4. Kjjnvx

11. Which number will replace the question mark (?) in the 
following series?
5, 5, 11, 35, 95, 215, ?
1. 245 2. 254 3. 452 4. 425

12. Which of the following numbers will replace the question mark 
(?) in the given series?
15, 48, 148, ? 1353
1. 756 2. 492 3. 449 4. 520

13. Select the option that represents the correct order of the given 
words as they would appear in an English dictionary.
1. Profess 2. Product 3. Prosecute
4. Precaution 5. Proctor
1. 2, 5, 4, 1, 3 2. 3, 5, 2, 1, 4 3. 4, 5, 2, 3, 1 4. 4, 5, 2, 1, 3

14. Study the given pattern carefully and select the number that can 
replace the question mark (?) in ti.
(5, 2, 9) (13, 5, 38) (14, 3, ?)
1. 23 2. 44 3. 29 4. 33

15. If ‘book’ is called ‘pen’ is called ‘notebook’, ‘notebook’ is 
called ‘bag, and ‘bag’ is called ‘school’, then on what do we 
usually write.
1. School 2. Book 3. Bag 4. Pen

16. Select the option in which the given fi gure is embedded 
(rotation is NOT allowed).

1. 2. 3. 4. 

17. Select the correct option that indicates the arrangement of the 
given words in a logical and meaningful order.
1. Plant 2. Germination            3. Seed
4. Fruit 5. Flower
1. 3, 1, 2, 5, 4 2. 3, 4, 2, 1, 5 3. 3, 2, 1, 5, 4 4. 4, 2, 3, 5, 1

18. Select the option that will fi ll in the blank and complete the 
given series.
Tmkb, clnu, vomd, ____, xqof
1. enpw 2. bqea 3. etrw 4. bqur

19. A is the son of C, but C is not the mother of A, B is A’s sister. 
C and D are a married couple. E is the mother of C. Who is A’s 
mother?
1. C 2. B 3. D 4. E

20. Select the option that is related to the third number in the same 
way as the second number is related to the fi rst number.
5 : 150 :: 8 : ?
1. 864 2. 576 3. 262 4. 186
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21. A book which costs ` 40 is sold for 25% profi t. If the cost of 
the book is increased by 10% and profi t percentage remains the 
same, what would be the new selling price of the same book?
1. ` 55 2. ` 58 3. ` 52 4. ` 48

22. Select the correct mirror image of the given 
fi gure when the mirror is placed at the right 
side.

1. BLA$%@T10U 2. 

BLA$%@T10U

3. BLA$%@T10U 4. BLA$%@T10U

23. From the given options, choose the correct one that will replace 
the question mark (?) in the following series.
1, 5, 3, 2, 10, 6, 4, 15, 9, 8, ?, 12
1. 20 2. 19 3. 15 4. 18

24. In a class of 64 students, Komal’s rank is 6 positions lower 
(i.e. towards bottom) than her friend Shikha, who is at the 59th 
position from the end. What is Komal’s rank from the top in the 
class?
1. 15th 2. 12th 3. 16th 4. 19th

25. The sequence of folding a piece of paper and the manner in 
which the folded paper has been cut is shown in the following 
fi gures. How would this paper look when unfolded?

1. 2. 3. 4. 

26. ‘A & B’ means ‘A is the sister of B’.
‘A % B’ means ‘A is the brother of B’. 
‘A $ B’ means ‘A is the mother of B’.
‘A # B’ means ‘A is the wife of B’.
If U $ Q & Y % D $ S # K, then which of the following 
statements is NOT correct?
1. D is the mother-in-law of K. 2. Q is the sister of D.
3. Y is the daughter of U. 4. U is the mother of D.

27. Select the option that is related to the third letter-cluster in the 
same way as the second letter-cluster is related to the fi rst letter-
cluster.
Oestd : uavxi :: uisry : ?
1. aovyd 2. aevvd 3. eavvd 4. aevwd

28. A is taller than B, C and D are of equal height. E is shorter than 
B but taller than D, F is shorter than C, who is shorter than B. 
Who is the shortest among all?
1. F 2. E 3. D 4. C

29. Pointing at Rahul, Benkat said, “He is the only son of my 
father’s only son”. How is Benkat related to Rahul?
1. Father 2. Grandfather 3. Brother 4. Cousin

30. Tamanna is walking towards the north from her house. After 
500 metres she turns left and walks for 500 metres. Then she 
turns left and walks 250 metres to reach her friend’s house. In 
which direction is her house from her friend’s house?
1. South 2. South-West 3. South-East 4. North

31. P, Q, R, S, T and U are six friends sitting at equal distances from 
each other around a circular table facing the centre of the table. 
U is sitting at the 4th position to the left of T. Someone is sitting 
between S and T but it’s not P. R is sitting to the immediate left 
of U. Who is sitting opposite T?
1. S 2. P 3. R 4. Q

32. Arrange the following words in a logical and meaningful order.
1. Paste 2. Copy 3. Save
4. Print 5. Select
1. 5, 4, 2, 1, 3 2. 5, 2, 1, 3, 4 3. 2, 1, 3, 4, 5 4. 2, 1, 5, 3, 4

33. Four letter-clusters have been given, out of which three are 
alike in some manner and one is diff erent. Select the letter-
cluster that is diff erent.
1. bkyp 2. gdtw 3. sxhd 4. xjcq

34. Read the given statements and conclusions carefully. Assuming 
that the information given in the statements is true, even if it 
appears to be at variance with commonly known facts, decide 
which of the given conclusion logically follow(s) from the 
statements.
Statement:
1. Some tables are chairs.
2. Some chairs are beds.
3. All beds are goods.
Conclusions:
 I. Some chairs are goods.
II. Some goods are not beds.
1. Only conclusion I follows
2. Only conclusion II follows
3. Both conclusions I and II follow
4. None of the conclusions follow

35. Select the number from among the given options that can 
replace the question mark (?) in the following series.
1, 8, 16, 27, 43, 66, 98, ?
1. 141 2. 111 3. 103 4. 122

36. Select the fi gure that will come next in the following fi gure series.

1. 2. 3. 4. 

37. Four letter-clusters have been given, out of which three are 
alike in some manner and one is diff erent. Select the letter-
cluster that is diff erent.
1. djoty 2. chmrw 3. dinsx 4. bglqv

38. Select the option that is related to the third letter-cluster in the 
same way as the second letter-cluster is related to the fi rst letter-
cluster.
Gknr : solh :: mngb : ?
1. qpsx 2. omnx 3. nmtx 4. mlsx

39. If ‘<’ means ‘multiplication’, ‘x’ means ‘subtraction’, ‘+’ means 
‘addition’, and ‘+’ means ‘division’, then fi nd the value of the 
given expression.
5 ÷ 3 < 2 + (9 + 3) × 2 = ?
1. 5 2. 12 3. 1 4. 7

40. The sum of the scores obtained by Ram and his two friends in 
an exam is 60% of the sum of the maximum marks for the exam 
for all three of them. If the ratio of their obtained marks is 4 : 
5 : 6, how many of them scored more than 70% marks in the 
exam?
1. Three 2. None 3. One 4. Two

BLA$%@T10U
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41. Read the given statements and conclusions carefully. Assuming 
that the information given in the statements is true, even if it 
appears to be at variance with commonly known facts, decide 
which of the given conclusions logically follow(s) from the 
statements.
Statements:
1. Some vegetables are fruits.
2. Potato is a vegetable.
Conclusions:
I. Potato is a fruit. 
II. Potato is not a fruit.
III. All vegetables are fruits. 
IV. Some vegetables are not fruits.
1. None of the conclusions follow 
2. Only conclusion I follows
3. Only conclusion IV follows
4. Only conclusion III follows

42. One evening when Rosy was going to the market, she saw the 
Sun to her right. She walked for 100 metres and turned left and 
walked 50 metres to reach a crossroad. From there she walked 
towards the south for 40 metres, and fi nally she turned left and 
walked 60 metres to reach the market. In which direction is the 
market from her house.
1. North-East 2. South-West 3. South-East 4. North-West

43. Select the combination of signs that when sequentially placed 
in the given blanks will make the equation correct.
12_4_3_24
1. ÷, × and = 2. ×, ÷ and = 3. +, × and = 4. ÷, = and ×

44. Select the option that will fi ll in the blank and complete the 
given series.
ACT, BAW, CYZ, ____, EUF
1. byc 2. cxc 3. dwc 4. dyc

45. Select the fi gure that will come next in the following fi gure 
series.
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46. Select the option that fi ll in the blank and complete the given 
series.
Eba, ____, uji, ono, iru
1. pia 2. qjz 3. pjA 4. Afe

47. In a certain code language, ‘SOUP’ is written as ‘VLRS’ and 
‘BACK’ is written as ‘EXFN’. How will ‘TYPE’ be written as 
in that language.
1. wcsc 2. wbsh 3. wbsb 4. vbrB

48. Select the venn diagram that best represents the relationship 
between the following classes.
Computer, Bicycles, Forest
1. 2. 3. 4. 

49. Which of the following options could be correctly 
depicted by the Venn diagram given below?
1. Book, Copy, Student
2. Mothers, Doctors, Women
3. Letter, Post-offi  ce, Paper
4. Musician, Teacher, Engineer

50. When the petrol prices increased by 25%, Yogesh reduced his 
travel so as to keep his monthly expenses on petrol the same as 
earlier. By what percentage did Yogesh reduce his travel?
1. 30% 2. 25% 3. 15% 4. 20%

General Awareness

51. As per Article 324 of the Constitution, which of the following 
institutions conducts the election of the Vice-President of 
India?
1. Offi  ce of the President of India
2. Secretariat, Lok Sabha
3. Election Commission of India
4. Secretariat, Rajya Sabha

52. The Index of eight core Indian industries is a production index 
prepared by CSO and is considered to be the lead indicator of the 
industrial performance in India. Which of the following industries 
is NOT treated as a core industry for calculating this index?
1. Fertilisers 2. Information technology
3. Cement 4. Natural gas

53. Who among the following astrologers passed away in 
May 2020?
1. Sanjay B Jumani 2. Bejan Daruwala
3. Prem Kumar Sharma 4. KN Rao

54. Small bead-like structures inside the ovary of a fl ower are 
called ____ .
1. petals 2. ovules 3. sepals 4. stamen

55. Who among the following is the President of International 
Olympic Committee (IOC) as of December 2020?
1. Thomas Bach 2. Jacques Rogge
3. Ajay Kumar 4. Olaf Breidbach

56. Which of the following states has become the fi rst Indian state 
to accord sports an industry status?
1. Meghalaya 2. Goa 3. Gujarat 4. Mizoram

57. Where is the Mattancherry Palace located?
1. Kochi, Kerala 2. Tirupati, Andhra Pradesh
3. Thanjavur, Tamil Nadu 4. Hampi, Karnataka

58. Who wrote the medieval-era epic poem ‘Padmavat’?
1. Mulla Daud 2. Amir Khusro
3. Abu’l-Fazi ibn Mubarak 4. Malik Muhammad Jayasi

59. Who among the following has won the prestigious United 
Nations Military Gender Advocate Award in May 2020?
1. Major Suman Gawani
2. Squadron Leader Deepika Misra
3. Captain Divya Ajith Kumar 4. Lt. Col. Sophia Qureshi

60. Which country has become the fi rst country in the world to 
off er entirely free public transport?
1. Cyprus 2. Kosovo
3. Montenegro 4. Luxembourg

61. As of May 2020, which of the following groups is headed by 
Yusuff  Ali MA?
1. Future Retail 2. Shoppers Stop
3. V-Mart 4. LuLu Group

62. Chuni Goswami, on whose name commemorative stamp was 
issued by the Indian Postal Department, was a professional 
Indian ____ player.
1. judo 2. hockey 3. football 4. cricket

63. As per the Mohs Scale, which of the following minerals is 
harder than apatite?
1. Calcite 2. Gypsum 3. Orthoclase 4. Fluorite

64. Veera Natyam is the famous ritual dance form of which of the 
following states?
1. Tamil Nadu 2. Andhra Pradesh
3. Odisha 4. Kerala

65. Who among the following Indian revolutionaries founded the 
Communist Party in Mexico in 1917?
1. SA Dange 2. MN Roy
3. Mohammad Ali 4. SV Ghate
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66.	 Which of the following dams is built on the Ravi river?
1.	Bhakra Nangal Dam	 2.	Pandoh Dam
3.	Nathpa Jhakri Dam	 4.	Chamera Dam

67.	 When does Sikkim celebrate its statehood?
1.	17th June	 2.	6th July	 3.	23rd March	 4.	16th May

68.	 In the context of nutrients, the terms ‘tyrosine’, ‘glycine’ and 
‘ornithine’ are types of:
1.	vitamins	 2.	calcium	 3.	proteins        4.  amino acids

69.	 Who among the following is the author of the book ‘Azadi: 
Freedom. Fascism. Fiction’?
1.	Chetan Bhagat	 2.	Arundhati Roy
3.	Kapil Sibal	 	 	 4.	Shashi Tharoor

70.	 Who among the following Sikh Gurus guided the construction 
of the Golden Temple?
1.	Guru Teg Bahadur	 2.	Guru Nanak Dev
3.	Guru Arjun Dev	 4.	Guru Ram Das

71.	 Mycology is the study of ___ .
1.	fossils	 2.	protozoa	 3.	fungi	 4.	lizards

72.	 NHRC is a statutory public body responsible for the protection 
and promotion of human rights under the Protection of Human 
Rights Act, 1993. What does NHRC stand for?
1.	National Human Right Corporation
2.	National Human Right Commission
3.	National Human Right Committee
4.	National Human Right Community

73.	 Which of the following lakes is located in Kerala?
1.	Chilika	 2.	Kolleru	 3.	Loktak	 4.	Vembanad

74.	 Amoebiasis or amoebic diarrhea is a common parasitic infection 
of the intestine, causes by ______ group of amoeba.
1.	Heliozoa	 2.	Sacodina	 3.	Entamoeba	 4.	Lobosa

75.	 Sangai festival is the biggest annual cultural festival organised 
by the Department of Tourism of manipur every year. In which 
of the following months is it celebrated?
1.	March	 2.	May	 3.	November	 4.	June

76.	 Who among the following poets wrote a biography of the later 
Chalukya ruler Vikramaditya VI?
1.	Vakpati	 	 	 2.	Ballala
3.	Bilhana	 	 	 4.	Sandhyakar Nandi

77.	 In the context of the Indian banking system, the ‘Cash Reverse 
Ratio’ is decided by ___ .
1.	The Reserve Bank of India
2.	The Ministry of Corporate Affairs
3.	Individual banks	 4.	The Ministry of Finance

78.	 Of the four substances mentioned in the following options, 
which one has the highest electrical resistivity at 20°C, as 
compared to the other three?
1.	Iron	 2.	Mercury	 3.	Manganese	 4.	Chromium

79.	 Which of the following articles makes provision for reservation 
of seats for the Scheduled Castes and Scheduled Tribes in the 
House of the People?
1.	Article 330	 2.	Article 347	 3.	Article 285	 4.	Article 297

80.	 As on 31st May 2020, how many languages enjoy the status of 
classical language in India?
1.	7	 2.	5	 3.	4	 4.	6

81.	 Which of the following States/Union Territories hosted the 
first-ever Food Processing Summit to attract investors to the 
region in January 2020?
1.	Jammu and Kashmir	 2.	Goa
3.	Ladakh	 	 	 4.	Sikkim

82.	 Which of the following elements is the densest naturally 
occurring element?
1.	Palladium	 2.	Iridium	 3.	Ruthenium	 4.	Osmium

83.	 Which of the following rivers originates in the Milam glacier in 
the Nepal Himalayas where it is known as Goriganga?
1.	Saryu	 2.	Gomti	 3.	Tons	 4.	Karamnasa

84.	 Who among the following was the founder of the Mauryan 
Empire?
1.	Ashoka	 	 	 2.	Bindusara
3.	Chandragupta Maurya	 4.	Brihadratha Maurya

85.	 Silver articles become black after their exposure to air because 
they react with ____ in the air.
1.	nitrogen	 	 	 2.	hydrogen
3.	sulphur	 	 	 4.	carbon dioxide

86.	 As per the merger of public sector banks, effective from 1 April 
2020, which of the following banks was merged with the Union 
Bank of India?
1.	Syndicate Bank	 2.	Allahabad Bank
3.	Corporation Bank	 4.	United Bank of India

87.	 In the context of respiration, the stage known as glycolysis 
involves the breaking down of ____ to pyruvic acid.
1.	lactic acid	 2.	fructose	 3.	citric acid	 4.	glucose

88.	 Which of the following Mughal rulers is believed to have ruled 
under the  influence of his father-in-law, Itmad-ud-Daulah?
1.	Bahadur shah-II	 2.	Jahangir
3.	Humayun	 	 	 4.	Shah Alam-I

89.	 Which of the following state government signed a pact with 
Cerestra Managers Pvt. Ltd.?
1.	Uttarakhand	 2.	Rajasthan	 3.	Gujarat	 4.	Bihar

90.	 Basanti Devi Bisht, the famous singer from Uttarakhand, is 
known for singing which type of folk songs?
1.	Chhura	 2.	Bajuband	 3.	Chhopati	 4.	Jagar

91.	 Ramnikal Solanki, who passed away in the United Kingdom in 
March 2020, was the founder of the newsweekly named:
1.	Garavi Gujarat	 2.	Pride of India
3.	Indian Mirror	 4.	Hamvatan

92.	 Who among the following has won the BBC Sports Personality 
of the Year 2020 award?
1.	Lewis Hamilton	 2.	Michael Schumacher
3.	Tyson Fury	 	 	 4.	Jordan Henderson

93.	 In which of the following countries is the ancient Hindu shrine 
called Shawala Teja Singh Temple located?
1.	Bhutan	 2.	Nepal	 3.	Pakistan	 4.	Myanmar

94.	 Apart from which one of the following, the President of India 
can make rules for peace, progress and good government of all 
Union Territories?
1.	Lakshadweep	 	 2.	Puducherry
3.	Andaman and Nicobar islands
4.	Chandigarh

95.	 Which of the following states has the red panda as the state 
animal?
1.	Nagaland	 	 	 2.	Arunachal Pradesh
3.	Sikkim	 	 	 4.	Meghalaya

96.	 Which of the following is the oldest mountain range of India?
1.	Satpura Range	 2.	Western Ghats
3.	Aravalli Range	 4.	Eastern Ghats

97.	 Which one of the following diseases is caused mainly by the 
deficiency of Vitamin C?
1.	Rickets	 2.	Scurvy	 3.	Goitre      4.  Kwashiorkor
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98. In which of the following states or union territories is the Hemis 
Monastery located?
1. Jammu and Kashmir 2. Sikkim
3. Arunachal Pradesh 4. Ladakh

99. In May 2020, Thierry Delaporte was appointed as the CEO and 
MD of which of the following companies?
1. Nokia 2. Wipro 3. Samsung 4. Indigo

100. In which river is the world’s largest riverine island, Majuli, 
located?
1. Brahmaputra 2. Kosi
3. Sutlej 4. Ganga

English Comprehension

101. Select the correct passive form of the given sentence.
One should wear as mask while going out.
1. While going out a, mask will be worn
2. While going out, a mask can be worn
3. While going out, a mask should be worn
4. While going out, a mask would be worn

102. In the given sentence, identify the segment that contains a 
grammatical error.
‘Occupation’ means the work or job people do to earning 
money.
1. to earning money 2. the work or job
3. ‘Occupation’ means 4. people do

103. Select the correct indirect form of the given sentence.
Rahul said, “I will start going to offi  ce from tomorrow.”
1. Rahul said that he would start going to offi  ce from the next 

day.
2. Rahul said that I will start going to offi  ce from tomorrow.
3. Rahul said that he would start going to offi  ce from tomorrow.
4. Rahul said that I will start going to offi  ce from the next day.

104. Select the correct passive form of the given sentence.
Anurag has given me this book to read.
1. This book has given me Anurag to read.
2. I have been given this book by Anurag to read.
3. This book has been given by me to Anurag to read.
4. I have given this book to Anurag to read.

105. Select the correct passive voice of the given sentence.
The teacher started a new game to keep the class engaged.
1. A new game to keep the class engaged was being started by 

the teacher.
2. A new game was started by the teacher to keep the class 

engaged.
3. A new game to keep the teacher engaged is started by the class.
4. A new game to keep the class engaged has been started by 

the teacher.
106. Select the most appropriate option to fi ll in the blanks.

_____ this time next week I will be _____ Mumbai.
1. On; at 2. In; in 3. By; in 4. At; from

107. In the given sentence, Identify the segment that contains a 
grammatical error.
Draw a lotus plant and label their parts.
1. and label 2. lotus plant 3. Draw a 4. their parts

108. Select the most appropriate ANTONYM of the given word.
CONFINE
1. restrain 2. detain 3. imprison 4. liberate

109. Given here are four sentences. The fi rst sentence is in correct 
order, while the rest of the sentences are jumbled. Pick the 
option that gives their correct order.

A. On the last day of the training, I received and e-mail 
from my training manager, Jane.

B. I wondered if I had done anything wrong.
C. She had called me to her offi  ce.
D. Once I had skipped classes to watch a movie and a 

football game.
1. ABDC 2. ACBD 3. ABCD 4. ADBC

110. Given here are four sentences. The fi rst sentence is in correct, 
while the rest of the sentences are jumbled. Pick the option 
that gives their correct order.
A. Both, sympathy and empathy are important in life.
B. Our relationships surely improve as we generate 

understanding, loyalty and higher productivity.
C. But of the two, empathy is certainly more important.
D. When we empathise with our customers or employees what 

is the change in our relationships?
1. ADCB 2. ACDB 3. ABDC 4. ACBD

111. In the sentence identify the segment that contains a 
grammatical error.
There are much advantages or working together in a group.
1. in a group 2. of working together
3. much advantages 4. There are

112. Select the most appropriate option to substitute the underlined 
segment in the given sentence. If there is no need to substitute 
it select ‘No substitution’.
What happened to your family if you continue to splurge 
money like this?
1. happening 2. has happened
3. will happen 4. No substitution

113. Select the correct active voice of the given sentence.
Every living being’s right to housing must be respected.
1. You must have respected every living being’s right to 

housing.
2. Every living being’s right to housing must have been 

respected by you.
3. You must respect every living being’s right to housing.
4. You have to be respecting every living being’s right to 

housing.
114. Select the most appropriate ANTONYM of the given word.

MODERN
1. creaky 2. ancient 3. popular 4. well known

115. Fill in the blank with the most appropriate word.
The lecture ____ by the doctor on healthy eating habits was 
very informative.
1. was given 2. given 3. giving 4. gave

116. Select the option that expresses the given sentence in active 
voice.
Several old buildings were dismantled by them to build the 
new hospital.
1. They have dismantled several old buildings to build the 

new hospital.
2. They had dismantled several old buildings to build the new 

hospital.
3. They are dismantling several old building to build the new 

hospital
4. They dismantled several old buildings to build the new 

hospital.
117. Select the most appropriate meaning of the given idiom/

phrase.
Hanging by the thread/a hair
1. being in a dangerous position
2. being extremely frightened
3. continuing without giving up
4. trying as hard as possible



SOLVED PAPER (12th November 2021-Shift-2)	 187

118.	 Select the most appropriate synonym of the given world.
	 Harmony

1.	success	 2.	unease	 3.	peace	 4.	calmness
119.	 Select the most appropriate ANTONYM of the given word.
	 SHALLOW

1.	hollow	 2.	superficial	 3.	spiteful	 4.	deep
120.	Select the correct active voice of the given sentence.
	 What kind of change would be suggested by you?

1.	What change you would suggest?
2.	What change of kind would you suggest?
3.	What kind of change would you suggest?
4.	What kind of change will you suggest?

121.	Select the correct direct form of the given sentence.
	 The policeman told the boys to go home and not move at night 

during the curfew period.
1.	The policeman said to the boys, “Go home and not move at 

night during the curfew period.”
2.	The policeman said to the boys, “Go home and don’t move 

at night during the curfew period.”
3.	The policeman said to the boys, “You can go home and do 

not move at night during the curfew period.”
4.	The policeman said to the boys, “Please go home and not 

move at night during the curfew period.
122.	Fill in the blank with the most appropriate word.
	 Anybody who is careful ____ some money in hand to meet an 

emergency during corona times.
1.	will keep	 2.	have kept	 3.	was keeping	 4.	kept

123.	Select the most appropriate option substitute the underlined 
segment in the given sentence. If no substitution is required, 
select ‘No substitution required’.

	 None of the soldiers did not survive when trapped in the 
glacier.
1.	had not survived	 2.	could survive
3.	No substitution required	 4.	could not survives

124.	 Identify the segment in the sentence which contains a 
grammatical error.

	 Apple growers in Himachal Pradesh says they are harvesting a 
bumper crop this year due to good weather conditions.
1.	due to good weather conditions
2.	they are harvesting
3.	a bumper crop this year
4.	Apple growers in Himachal Pradesh says

125.	Select the most appropriate option to substitute the underlined 
segment in the given sentence. If no substitution is required, 
select ‘No substitution required’.

	 The guard had gave a hard push by the crowd.
1.	gives	 2.	was given
3.	had given	 4.	No substitution required

126.	Select the most appropriate ANTONYM of the given word.
	 AGILE

1.	energetic	 2.	prompt	 3.	lethargic	 4.	youthful
127.	Select the correct indirect narration of the given sentence.
	 “Oh! I’ve missed the deadline for sending my application 

again.” Nidhi said.
1.	Nidhi is exclaiming in disappointment that she had missed 

the deadline for sending her application again.
2.	Nidhi exclaimed because she has missed the deadline for 

sending her application again.
3.	Nidhi exclaimed in disappointment that she had missed the 

deadline for sending her application again.
4.	Nidhi exclaimed in disappointment that she was missing 

the deadline for sending her application again.

128.	Select the correct active voice of the given sentence.
	 The states of Maharashtra and Gujarat have been alerted about 

the impending cyclone by NDRF.
1.	NDRF has alerted the states of Maharashtra and Gujarat 

about the impending cyclone.
2.	NDRF alerted the states of Maharashtra and Gujarat about 

the impending cyclone.
3.	NDRF was alerting the states of Maharashtra and Gujarat 

about the impending cyclone.
4.	NDRF has been alerting the states of Maharashtra and 

Gujarat about the impending cyclone.
129.	Select the most appropriate option to substitute the underlined 

segment in the given sentence. If no substitution is required, 
select ‘No substitution required’.

	 The crisis was averted due to timely intervention by the 
government.
1.	was been averted	 2.	be averted
3.	No substitution required	 4.	is avert

130.	 Identify the segment in the sentence which contains a 
grammatical error.

	 As I was sitting in the back of the theatre, I couldn’t see the 
performance very well.
1.	As I was sitting	 2.	I couldn’t see
3.	In the back of the theatre	 4.	the performance very well

131.	Select the most appropriate meaning of the given idiom.
	 Cross a bridge when you come to it

1.	use different strategies to cross a bridge safety
2.	know all the dangers and difficulties likely to be faced and 

be prepared
3.	deal with something when it happens, and not worry about 

it beforehand
4.	plan to reach a place and then rest there

132.	Select the most appropriate option to substitute the underlined 
segment in the given sentence. If no substitution is required, 
select ‘No substitution’.

	 Online crimes are on the increase so everyone needing to be 
careful and alert.
1.	need to be careful	 2.	need to have careful
3.	needs to be careful	 4.	No substitution

133.	Select the correct indirect narration of the given sentence.
	 Vishnu’s mother said, “We are leaving for the village as there 

are no jobs in the city”.
1.	Vishnu’s mother said we were leaving for the village as 

there were no jobs in the city.
2.	Vishnu’s mother said that they were leaving for village as 

there were no jobs in the city.
3.	Vishnu’s mother said they are leaving for the village as 

there will be no jobs in the city.
4.	Vishnu’s mother said she was leaving for the village as 

there are no jobs in the city.
134.	 In the sentence identify the segment that contains a 

grammatical error.
	 The foul smell coming by the nearby garbage bin was really 

unbearable.
1.	garbage bin	 2.	the nearby
3.	coming by	 4.	was really unbearable

135.	Select the most appropriate meaning of the given idiom.
	 Pull yourself together

1.	ensure a large number of people join you
2.	decide to fight for a cause alone
3.	control emotions and behave calmly
4.	gather people together for support
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136.	Select the option that arranges the given sentences in the 
correct sequence. The first sentence is in the correct position.
A.	A traffic policeman usually stands at the junction or roads.
B.	With these signs, he either stops people and vehicles, or 

allows them to pass by.
C.	He wears a white uniform and a pair of white gloves.
D.	Sometimes he stands on a high platform at the junction or 

under a flyover.
E.	In one hand he carriers a red or green, lighted rod or a metal 

sign plate that says ‘STOP’.
1.	ADCEB	 2.	ACBED	 3.	ABCED	 4.	AECBD

137.	Select the option that expresses the given sentence in direct 
speech.

	 Hema told her friends that Rose was worried whether she 
would break her team’s scoring record soon.
1.	Hema told her friends, “Rose is worried she would break 

her team’s scoring record soon”.
2.	Hema said to her friends, “Rose is worried whether she will 

break her team’s scoring record soon”.
3.	Hema said to her friends, “Rose was worried whether she 

will break her team’s scoring record soon”.
4.	Her friends said to Hema, “Rose was worried that she 

would break her team’s scoring record soon”.
138.	Select the correct direct form of the given sentence.
	 Bhanu said that they needed to work that out from their angle.

1.	Bhanu said, “We need to work this out from our angle.”
2.	Bhanu said, “We need to work that out from their angle.”
3.	Bhanu said, “They need to work this out from our angle.”
4.	Bhanu said, “They needed to work that out from their 

angle.”
139.	Select the most appropriate synonym of the given work.
	 Vulnerable

1.	secure	 2.	exposed	 3.	protected	 4.	guarded
140.	Select the correct direct form of the given sentence.
	 The doctor asked me angrily why I had disturbed him at that 

late hour.
1.	The doctor said to me, “Why I had disturbed him at that late 

hour?”
2.	The doctor said to me, “Why have you disturbed him at this 

late hour?”
3.	The doctor said to me, “Why did you disturb me at that late 

hour?”
4.	The doctor said to me, “Why have you disturbed me at this 

late hour?”
141.	Fill in the blank with the most appropriate word.
	 Those who complete the test successfully will be moved into 

a/an ____ class.
1.	advanced	 2.	fast	 3.	rapid	 4.	crash

142.	Select the option that expresses the given sentence in direct 
speech.

	 She said that she was going to the theatre then.
1.	She said, “I am going to the theatre now.”
2.	She said, “She goes to the theatre now.”
3.	She said, “She has gone to the theatre now.”
4.	She said, “I go the theatre then.”

143.	Given here are four sentence. The first sentence is in correct 
order, while the rest of the sentence are jumbled. Pick the 
option that gives their correct order.
A.	The Brahman used to each pupils from time to time.
B.	This young man knew that the Brahman was in possession 

of a certain spell.
C.	He had one pupil of whom he thought very highly.
D.	But he didn’t know what the spell could do.
1.	ADBC	 2.	ABCD	 3.	ACBD	 4.	ABDC

144.	Select the most appropriate option to substitute the underlined 
segment in the given sentence. If there is no need to substitute 
it, select ‘No substitution’.

	 The town there I was born is famous for manufacturing sports 
goods.
1.	in that	 2.	No substitution
3.	where	 4.	when

145.	Select the most appropriate option to substitute the underlined 
segment in the given sentence. If there is no need to substitute 
it, select ‘No substitution’

	 CV Raman became famous when he got the Nobel Prize, 
hadn’t he?
1.	didn’t he	 	 	 2.	No substitution
3.	isn’t it	 	 	 4.	wasn’t he

146.	Select the most appropriate ANTONYM of the given word.
	 TUMULT

1.	quarrel	 2.	commotion	 3.	disturbance	 4.	calmness
147.	The following sentence has been split into four segments. 

Identify the segment that contains a grammatical error.
	 I wanted to play tennis/but my parents/ prevented me to join/

the school team.
1.	but my parents	 2.	prevented me to join
3.	the school team	 4.	I wanted to play tennis

148.	 Identify the segment in the sentence which contains a 
grammatical error.

	 We require the efficient electrician for changing the wiring of 
our house.
1.	of our house	 2.	we require
3.	the efficient electrician	 4.	for changing the wiring

149.	The following sentence has been split into four segment. 
Identify the segment that contains a grammatical error.

	 Need I to/wait/for your/approval?
1.	for your	 2.	approval	 3.	wait	 4.	Need I to

150.	Select the correct active form the given sentence.
	 Let all the passengers of this flight be quarantined for fourteen 

days.
1.	The government should quarantine all the passengers of 

this flight for fourteen days.
2.	Quarantine all the passengers of this flight for fourteen 

days.
3.	Why don’t we quarantine all the passengers of this flight for 

fourteen days?
4.	You are requested to quarantine all the passengers of this 

flight for fourteen days.
151.	Select the correct indirect narration of the given sentence.
	 Mother said to Ravi, “Wash your hands before eating.”

1.	Mother said to Ravi to wash your hands before eating.
2.	Mother said Ravi must wash his hands before he was eating.
3.	Mother told Ravi to wash his hands before eating.
4.	Mother told to Ravi you have to wash your hands before eating.

152.	Select the most appropriate option to fill in the blank.
	 I lost my purse ____ between my house and the metro station.

1.	there	 2.	somewhere	 3.	anywhere	 4.	wherever
153.	Given here are four sentence. The first sentence is in correct 

order. While the rest of the sentences are jumbled. Pick the 
option that gives their correct order.
A.	Following at the man’s heels was a big native dog.
B.	The animal understood and was worried by the great cold 

and knew that this was no time for travelling.
C.	Having understood the danger of being out there in the cold 

better than the man, it started barking.
D.	It was a wolf dog, gray-coated and not noticeably different 

from the wild wolf.
1.	ADBC	 2.	ABDC	 3.	ACBD	 4.	ACDB
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154.	Select the most appropriate meaning of the given idiom.
	 In the same boat

1.	getting married	 2.	sharing the same problem
3.	escaping something together
4.	doing something in a team

155.	Select the most appropriate synonym of the given word.
	 AUSTERE

1.	luxurious	 2.	unadorned	 3.	decorative	 4.	elaborate
156.	There is an underlined segment in the given sentence. Select 

the most appropriate option to substitute the segment. It there 
is no need to substitute it, select ‘No substitution required’.

	 Adding to the problem of heavy rain, people have to worry 
about potholes on roads.
1.	In addition to the problem of
2.	No substitution required
3.	By adding to the problem of
4.	Added to the problem of

157.	 In the given sentence. Identify the segment which contains a 
grammatical error.

	 You should have reports the matter to your teacher instead of 
taking it in your own hands.
1.	taking it	 	 	 2.	instead of
3.	should have		 	 4.	reports the matter

158.	Select the most appropriate synonym of the given word.
	 EXTRACT

1.	insert	 2.	enclose	 3.	install	 4.	withdraw
159.	Select the correct passive voice of the given sentence.
	 You must repeat your main points (not the sub-points)

1.	You main points (not the sub-point) must be repeated by 
you.

2.	The main points (not the sub-point) can be repeated by you.
3.	The main points (not the sub-point) are repeated by you.
4.	You must be repeated your main points (not the sub-points).

160.	Select the most appropriate meaning of the given idiom.
	 The black sheep

1.	a black dot against a white background so that it is noticed
2.	a wolf in a black sheep’s clothing
3.	one who is not accepted as part of a family or group because 

of one’s bad conduct
4.	a black sheep in a herd of white sheep, standing out from 

the others
161.	Select the most appropriate option to substitute the underlined 

segment in the given sentence. If there is no need to substitute, 
select ‘No substitution’.

	 They decided to move to Dehradun because they could live in 
a peaceful environment.
1.	in case	 2.	as soon as
3.	No substitution	 4.	so that

162.	Select the most appropriate option to improve the underlined 
segment in the given sentence. If there is no need to improve 
it, select ‘No improvement required’.

	 Fifty dollars are a high price to pay for this shirt.
1.	were a	 2.	No improvement required
3.	is a	 4.	are the

163.	Select the correct direct narration of the given sentence.
	 Savita had a good look at my presentation and advised me to 

change the font. She also said she did not design matched the 
content.
1.	Savita had a look at my presentation and said, “Change the 

font. I think the design must match the content.”

2.	Savita was looking at my presentation and saying, “You 
have to change the font. I think the design must match the 
content.”

3.	Savita had a look at my presentation and said, “Please 
change the font. I think the design must match the content”.

4.	Savita had a look at my presentation and said, “You should 
change the font. I don’t think the design matches the 
content.

164.	Select the most appropriate synonym of the given word.
	 ASSIST

1.	facilitates	 2.	acquire	 3.	restrict	 4.	injure
165.	Select the option expresses the given sentence in passive voice.
	 No one immediately owned responsibility for the bomb attack.

1.	Responsibility for the bomb attack has not been owned by 
anyone immediately.

2.	Responsibility for the bomb attack was not owned by 
anyone immediately.

3.	Responsibility for the bomb attack was not owned by no 
one immediately.

4.	Responsibility for the bomb attack is not owned by anyone 
immediately.

In the following passage some words have been deleted. Fill 
in the blanks with the help of the alternatives given. Select the 
most appropriate option for each blank.
	 There are three main groups of oils: animal, vegetable, 

and mineral. Great quantities of animal oil come  
(1) ______ whales, those enormous creatures of the sea  
(2) ______ are the largest remaining animals in the world. 
(3) ______ the whale from the cold of the Arctic seas, nature  
(4) ______ it with a thick covering of fat called blubber.  
(5) ______ the whale is killed; the blubber is stripped  
(6) ______ and boiled down. It produces a great (7) ______ 
of oil which can be made into food for human (8) ______.  
A few other creatures yield oil, but none so (9) ______ as the 
whale. The livers of the cod and the halibut, two (10) ______ 
of fish, yield nourishing oil.

166.	Select the most appropriate option for blank number 1.
1.	by	 2.	for	 3.	with	 4.	from

167.	Select the most appropriate option for blank number 2.
1.	what	 2.	who	 3.	whom	 4.	which

168.	Select the most appropriate option for blank number 3.
1.	Protect	 2.	Protected	 3.	To protect	 4.	Protecting

169.	Select the most appropriate option for blank number 4.
1.	has provided	 2.	has been providing
3.	had provided	 4.	is providing

170.	Select the most appropriate option for blank number 5.
1.	Before	 2.	Until	 3.	When	 4.	While

171.	Select the most appropriate option for blank number 6.
1.	about	 2.	up	 3.	in	 4.	off

172.	Select the most appropriate option for blank number 7.
1.	length	 2.	quantity	 3.	number	 4.	size

173.	Select the most appropriate option for blank number 8.
1.	convention	 	 	 2.	contradiction
3.	construction	 4.	consumption

174.	Select the most appropriate option for blank number 9.
1.	much	 2.	enough	 3.	very	 4.	more

175.	Select the most appropriate option for blank number 10.
1.	brand	 2.	breed	 3.	kinds	 4.	orders
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In the following passage some words have been deleted, Fill in 
the blanks with the help of the alternative given. Select the most 
appropriate option for each blank.
	 Finland is a country of vast green forests, beautiful Baltic 

islands, windswept Arctic mountains and (1) ______ 
blue lakes. These pristine and picturesque landscapes  
(2) ______ a habitat for many wild animals and birds including  
(3) ______ bears, wolves, eagles, cranes and swans, as well 
as (4) ______ world’s rarest seals. Birdwatchers flock to 
Finland to find (5) ______ that are hard to spot anywhere 
else in Europe. Keen wildlife photographers (6) ______ come 
here to enjoy excursions and facilities that enable (7) ______ 
to get spectacular shots of the amazing animals in their  
(8) ______ settings. Some of the great places to preserve these 
(9) ______ include Finland’s forty national parks, which are 
open to (10) ______ all year round.

176.	Select the most appropriate to fill in blank 1.
1.	counted	 2.	count	 3.	counting	 4.	countless

177.	Select the most appropriate to fill in blank 2.
1.	provide	 2.	providing	 3.	is providing	 4.	provides

178.	Select the most appropriate to fill in blank 3.
1.	magnificent	2.	malicious	 3.	melodious	 4.	majority

179.	Select the most appropriate to fill in blank 4.
1.	a	 2.	an	 3.	any	 4.	the

180.	Select the most appropriate to fill in blank 5.
1.	species	 2.	samples	 3.	patterns	 4.	cases

181.	Select the most appropriate to fill in blank 6.
1.	but	 2.	also	 3.	whereas	 4.	either

182.	Select the most appropriate to fill in blank 7.
1.	these	 2.	they	 3.	those	 4.	them

183.	Select the most appropriate to fill in blank 8.
1.	natural	 2.	unnatural	 3.	nature	 4.	natures

184.	Select the most appropriate to fill in blank 9.
1.	creatures	 2.	personalities	3.	souls	 4.	mortals

185.	Select the most appropriate to fill in blank 10.
1.	everyone	 2.	no one	 3.	either one	 4.	someone

Read the given passage and answer the question that follow.
	 With an impressive growth in yields, Telangana now claims 

to be transforming into the rice bowl of India. The Food 
Corporation of India (FCI) has procured 52 lakh tonnes of 
paddy from Telangana alone, which is more than half of the 
national target of 91 lakh tonnes. The state’s harvests have 
nearly doubled in a year. Paddy production is up 93%, maize 
95%, and cotton 74%, according to the Telangana Planning 
Department.

	 The state is also making its mark as a producer of paddy seed. 
“About 85% of our village’s paddy is of a fine variety that 
farmers in MP, Haryana, Bengal, and Bihar use as seed, “said 
a farmer in Anksapur Village in Nizamabad district. The seed 
crop sells at a premium over the state’s minimum support 
price for paddy.

186.	What are the main crops of Telangana, according to the details 
in the passage?
1.	Paddy seed, cotton, and maize
2.	Rice, paddy, and cotton
3.	Paddy, paddy seed, and maize
4.	Cotton, maize, and paddy

187.	“The state is also making its mark as a producer of paddy 
seed.” The expression underlined in the sentence means that 
the state is:
1.	drawing a mark on the map of India for paddy seeds
2.	trying to become number one in producing paddy seeds
3.	being praised for producing quality paddy seeds
4.	being noticed or recognised as a major supplier of paddy 

seeds

188.	Telangana’s contribution to the national stock of paddy is:
1.	one-third of the country’s procurement target
2.	more than half of the country’s paddy procurement
3.	less than half of the nation’s rice procurement
4.	half of the nation’s procurement target

189.	According to the passage, in one year, the harvests in the state 
of Telangana have:
1.	remained the same	 2.	almost doubled
3.	decreased sharply	 4.	increased many times

190.	What is the main idea of theme of this passage?
1.	Telangana’s yield of paddy have exceeded all expectations
2.	Recently, Telangana has seen a huge increase in the quantity 

of agricultural products.
3.	The state of Telangana has emerged as a significant 

contributor to the growth of agriculture in the country.
4.	Telangana has already become the ‘Rice Bowl of India’.

Read the given passage and answer the question that follow.
	 ‘What’s  your name, boy?’ said the gentleman in the high chair.
	 Oliver was frightened at the sight of so many gentlemen, 

which made him tremble and speak in a very low and 
hesitating voice.

	 ‘Listen to me. You know you’re an orphan, I suppose? And 
that you were brought up by the parish, don’t you?’

	 ‘Yes, sir,’ replied Oliver, weeping bitterly.
	 ‘I hope you say your prayers every night,’ said another 

gentleman in a gruff voice, ‘and pray for the people who feed 
you, and take care of you’.

	 ‘You, sir,’ stammered the boy.
	 ‘Well! You have come here to be educated, and taught a useful 

trade,’ said the red-faced gentleman in the high chair.
	 Poor Oliver! He little though, as he lay sleeping, happily 

unconscious of things around him, that the board had that 
very day arrived at a decision which would exercise the most 
material influence over all his future fortunes.

	 But they had. They believed the workhouse was a regular 
place of public entertainment for the poorer classes; a tavern 
where there was nothing to pay; a public breakfast, dinner, tea, 
and supper all the year round; a brick and mortar place, where 
it was all play and no work.

	 ‘Oho!’ said the board, looking very knowing; ‘we are the 
fellows to set this right; we’ll stop it all, in no time.’

	 So, they established the rule, that tall poor people should be 
starved by a gradual process in the house. The water-works 
were asked to lay on an unlimited supply of water; a corn-
factory asked to supply small quantities of oatmeal; and it was 
decided to issue three meals of thin gruel a day, with an onion 
twice a week, and half a roll of bread on Sundays.

191.	How was Oliver feeling?
1.	Bored	 	 	 2.	Happy
3.	Unconcerned	 4.	Frightened

192.	What was the decision taken by the gentlemen.
1.	To give the boys a happy home
2.	To slowly starve the boys to death
3.	To improve things so the children remained ever grateful
4.	To give food, education and care to the boys.

193.	The impression one forms of the gentlemen is that they:
1.	followed laid down rules	 2.	were kind human beings
3.	were cruel and uncaring	 4.	were very thoughtful

194.	What was Oliver’s situation?
1.	He had no family and was living in a home for orphans
2.	His education would prepare him for the future
3.	He was enjoying a stay at a workhouse
4.	He was fortunate to be provided with good meals.
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195.	The changes to be brought about for the inhabitants at the 
workhouse were that they would be given:
a.	thin gruel thrice a day
b.	healthy breakfast, lunch and dinner
c.	plenty of water to drink
d.	free entertainment and fun activities
e.	half a roll of bread on Sundays
f.	 plenty of food from a corn factory
1.	a, c and e	 2.	b, e and f	 3.	a, c and d	 4.	c, d and e

Read the given passage and answer the question that follow.
	 Before the advent of soap, the primary cleansing agent in 

ancient India was taken from soap nuts (reetha) from the plant 
Sapindus saponaria. The literal translation of Sapindus is sap 
= soap and indus = India. In other words, soap from India!

	 The nuts was used in ancient China as well and its usage 
spread from India to Middle Asia and then Europe. Soap nuts 
are boiled to soften them up, and then crushed to filter out the 
essence which contains the all-important cleansing chemicals. 
It lathers but in small quantities. Ancient India also used shikai 
a shikakai (a variant of the acacia plant) as a hair and body 
cleanser.

	 The skincare routines of ancient Indians involved the addition 
of a variety of herbs such as turmeric, tulsi (holy basil), neem 
(bark and leaves), lotus petals and sandalwood paste amongst 
other which were common ingredients in their skincare 
creams.

	 Another worth mentioning soap in skin care is the Aleppo 
soap, which originated from the Syrian city of Aleppo. This is 
considered one of the purest soaps as it is made with all natural 
ingredients. Aleppo soap does not dry out the skin. It also 
moisturises and nourishes the skin and is purported to benefit 
a host of skin problems such and eczema, skin breakouts, 
inflammatory skin conditions, insect bites, and skin infection. 
However, the exact origin of the soap is lost in time with the 
earliest written record dating as far back as the 8th Century 
AD. After the Crusades, European nations adopted Aleppo 
soap and started producing their own variations. However, the 
ancient city of Aleppo thrived on trade of thousand of years, 

famous for being endpoint of the illustrious Silk Road trade 
route that bridged the east and the west.

	 Generations of marchant families and manufacturers made 
the unique soap for thousands of years and the formulation 
has remained surprisingly unchanged in all this time 
retaining its original form. Olive oil, sweet bay (laurel) oil, 
sodium hydroxide and water are the main ingredients of 
this soap. Bay (Laurus nobilis) has remarkable antibacterial 
and antifungal properties, and could explain some of the 
benefits of this soap in conditions such as acne, insect bites 
and skin infections.

196.	Which of the following things did people in ancient India use 
for body and hair wash?
1.	Shikakai	 	 	 2.	Neem bark
3.	Soap nuts (reetha)	 4.	Sandalwood paste

197.	Which of the following is NOT true according to the passage?
1.	Olive oil, sweet bay (laurel) oil, sodium hydroxide and 

water are the main ingredients of this soap.
2.	Aleppo soap is beneficial in a number of skin problems like 

eczema, skin breakouts etc.
3.	The ancient city of Aleppo thrived on the trade of the their 

creams for thousands of years.
4.	After the Crusades, European nations adopted Aleppo soap 

and started producing their own variations.
198.	The main theme of the passage is:

1.	natural soaps for skin care in ancient times
2.	origin of the Aleppo soap
3.	history of soap in India
4.	kinds of ingredients in soap making

199.	Match the words with their meaning.
a.	purported 	 	 	 1.	maintained
b.	lathers	 	 	 2.	professed
c.	 retained	 	 	 3.	foams
1.	a-2, b-3, c-1		 	 2.	a-3, b-2, c-1
3.	a-1, b-3, c-2		 	 4.	a-2, b-1, c-3

200.	 In Aleppo soap, which ingredient has the antibacterial and 
antifungal properties?
1.	Holy basil	 2.	Lotus petals	 3.	Olive oil	 4.	Bay oil

Answer Key 

1. (1) 2. (1) 3. (4) 4. (4) 5. (1) 6. (1) 7. (2) 8. (4) 9. (4) 10. (2)
11. (4) 12. (3) 13. (4) 14. (1) 15. (3) 16. (2) 17. (3) 18. (1) 19. (3) 20. (2)
21. (1) 22. (3) 23. (1) 24. (2) 25. (1) 26. (3) 27. (2) 28. (1) 29. (1) 30. (3)
31. (2) 32. (2) 33. (3) 34. (1) 35. (1) 36. (3) 37. (1) 38. (4) 39. (2) 40. (3)
41. (1) 42. (3) 43. (3) 44. (3) 45. (2) 46. (2) 47. (3) 48. (3) 49. (2) 50. (2)
51. (3) 52. (2) 53. (2) 54. (2) 55. (1) 56. (4) 57. (1) 58. (4) 59. (1) 60. (4)
61. (4) 62. (3) 63. (3) 64. (2) 65. (2) 66. (4) 67. (4) 68. (4) 69. (2) 70. (3)
71. (3) 72. (2) 73. (4) 74. (3) 75. (3) 76. (3) 77. (1) 78. (3) 79. (1) 80. (4)
81. (3) 82. (4) 83. (1) 84. (3) 85. (3) 86. (3) 87. (4) 88. (2) 89. (3) 90. (4)
91. (1) 92. (1) 93. (3) 94. (4) 95. (3) 96. (3) 97. (2) 98. (4) 99. (2) 100. (1)

101. (3) 102. (1) 103. (1) 104. (2) 105. (2) 106. (3) 107. (4) 108. (4) 109. (2) 110. (2)
111. (3) 112. (3) 113. (3) 114. (2) 115. (2) 116. (4) 117. (1) 118. (3) 119. (4) 120. (3)
121. (2) 122. (1) 123. (2) 124. (4) 125. (2) 126. (3) 127. (3) 128. (1) 129. (3) 130. (3)
131. (3) 132. (3) 133. (2) 134. (3) 135. (3) 136. (1) 137. (2) 138. (1) 139. (2) 140. (4)
141. (1) 142. (1) 143. (3) 144. (3) 145. (1) 146. (4) 147. (2) 148. (3) 149. (4) 150. (2)
151. (3) 152. (2) 153. (1) 154. (2) 155. (2) 156. (1) 157. (4) 158. (4) 159. (1) 160. (3)
161. (4) 162. (3) 163. (4) 164. (1) 165. (2) 166. (4) 167. (4) 168. (3) 169. (1) 170. (3)
171. (4) 172. (2) 173. (4) 174. (1) 175. (3) 176. (4) 177. (1) 178. (1) 179. (4) 180. (1)
181. (2) 182. (4) 183. (1) 184. (1) 185. (1) 186. (4) 187. (4) 188. (2) 189. (2) 190. (3)
191. (4) 192. (2) 193. (3) 194. (1) 195. (1) 196. (1) 197. (3) 198. (1) 199. (1) 200. (4)



1.	 Option (1) is correct.
	 The sum of the given numbers in brackets = 30
	 	 (17, 9, 4) 17 + 9 + 4 = 30
	 And
	 	 (14, 3, 13) 14 + 3 + 13 = 30
	 Similarly, (13, ?, 7)
	 Consider ? as X
	 (13, X, 7)
	 ⇒  13 + X + 7 = 30
	 ⇒  20 + X = 30
	 ⇒  X = 10
2.	 Option (1) is correct.
	 (9, 9, 2) (8, ?, 1) (4, 8, 8)
	 The sum of the given numbers in brackets = 20
	 	 (9, 9, 2) → 9 + 9 + 2 = 20
	 and
	 	 (4, 8, 8) → 4 + 8 + 8 = 20
	 Similarly, (8, ?, 1)
	 Let the missing number = x
	 ⇒  8 + x + 1 = 20
	 ⇒  9 + x = 20
	 ⇒  x = 11
3.	 Option (4) is correct.
	 Table of Alphabetical series (point to remember)

Alphabets A B C D E F G H I J K L M

Positional 
value

1 2 3 4 5 6 7 8 9 10 11 12 13

Alphabets Z Y X W V U T S R Q P O N

Positional 
value

26 25 24 23 22 21 20 19 18 17 16 15 14

	 The sum of the opposite alphabet positional value + 1.
	 PHONE is coded as 78 and

11 19 12 13 22

K S L M V

P H O N E

O
pp

os
ite

O
pp

os
ite

O
pp

os
ite

O
pp

os
ite

O
pp

os
ite

	          (11 + 19 + 12 + 13 + 22) + 1 = 78
	 Similarly, MOON is coded as 52. 

14 12 12 13

N L L M

M O O N

O
pp

os
ite

O
pp

os
ite

O
pp

os
ite

O
pp

os
ite

	 (14 + 12 + 12 + 13) + 1 = 52
	 Similarly, PLAN can be coded as:

11 15 26 13

K O Z M

P L A N

O
pp

os
ite

O
pp

os
ite

O
pp

os
ite

O
pp

os
ite

	 (11 + 15 + 26 + 13) + 1 = 66

4.	 Option (4) is correct.
	 Given table: 
	 125 25 10
	 216 49 13
	 27 121 ?
	 Row wise:

	 1 23 st nd number  number+  = 3rd number
	 Now,
	 Row 1:
	 125 25 10
	 125 253 +  = 10 ⇒ i.e. 5 + 5 = 10
	 Similarly, Row 2:
	 216 49 13
	 216 493 +  = 13 ⇒ i.e. 6 + 7 = 13
	 Similarly, Row 3:
	 27 121 ?
	 27 1213 +  = ? ⇒ i.e. 3 + 11 = 14
5.	 Option (1) is correct.
	 ⇒ Horse E is ahead of Horse D.
	 E > D
	 Horse C is ahead of Horse A but behind Horse B.
	 B > C > A
	 ⇒ Horse A is ahead of horse E.
	 A > E
	 By combining the above three statements the relation formed is:
	 B > C > A > E > D
	 At one point, a horse in the fourth place crosses all the horses 

and won the race.
	 The horse in the fourth place is: E
	 E > B > C > A > D
	 Here, the horse that is middle at the end of the race is ‘horse C’.
	 Hence, the correct answer is “C”.
6.	 Option (1) is correct.
	 AURRGHRSWCGIOPDSQT
	 Given series: AURRGHRSWCGIOPDSQT
	 A total of 18 letters are there in the given series.
	 The first half of the given letters are: AURRGHRSW
	 After reversing the first half of the given series the series is as 

follows: 
	 WSRHGRRUACGIOPDSQT
	 The letter 8th from the right end is: WSRHGRRUACGIOPDSQT
	 ⇒ The letter which is third to the left of the letter eight from the 

right end of the series formed is: WSRHGRRUACGIOPDSQT
	 Hence, the correct answer is “U”.
7.	 Option (2) is correct.

North

EastWest

Starting
Point

Final
Point

800 m

1 km500 m
1 km

2 km

1.2 km

South
	 Hence, cyclist is in the ‘north’ with respect to his starting position.

Answers with Explanations



SOLVED PAPER (12th November 2021-Shift-2)	 193

8.	 Option (4) is correct.
	 Solving by options:
	 Taking option number 4 
	 10 + 2 ÷ 3 + (24 × 9 + 8) – 12 = 17
	 After interchanging:
	 LHS = 10 + 2 × 3 + (24 ÷ 12 + 8) – 9
	 Applying BODMAS
	 = 10 + 2 × 3 + (2 + 8) – 9
	 = 10 + 6 + (2 + 8) – 9
	 = 26 – 9 = 17 = RHS
9.	 Option (4) is correct.

City Districts Zones States

	 Conclusions:
	 I. 	Some zones are districts → True (As Some districts are zones 

so, some zones are districts is true)
	 II. 	Some districts are cities → False (As No city is a district so, 

some districts are cities is false)
	 III. No state is a zone → False (As Some zones are states so, no 

state is a zone is false)
	 Hence, only the conclusion I follows.
10.	 Option (2) is correct.
	 Given expression: DURDG : EFJVZ :: JGFSGR : ?
	 DURDG : EFJVZ

Alphabet order in 
increasing order

E F J V Z
+1 +2 +3 +4 +5

D D G R UD U R D G

	 Similarly, JGFSGR : ?

Alphabet order in 
increasing order

G I J N W Y
+1 +2 +3 +4 +5 +6

F G G J R S J G F S G R

	 Hence, the correct answer is GIJNWY.
11.	 Option (4) is correct.
	 5, 5, 11, 35, 95, 215, ?

5 5 11 35 95 215 425

+0 +6 +24 +60 +120 +210

+6 +18 +36 +60 +90

+12 +18 +24 +30

+6 +6 +6
	 Hence, the missing number is 425.
12.	 Option (3) is correct.
	 Given series: 15, 48, 148, ?, 1353

15                    48                     148                    449                1353

(15 × 3) +3
= 45 + 3

(48 × 3) +4
= 144 + 4

(148 × 3) + 5
= 444 + 5

(449 × 3) +6
= 1347 + 6

	 Hence, the missing number is 449.
13.	 Option (4) is correct.

4. Precaution 5. Proctor 2. Product 1. Profess 3. Prosecute

14.	 Option (1) is correct.
	 Given numbers: (5, 2, 9) (13, 5, 38) (14, 3, ?)
	 (5, 2, 9) → 5 + 22 = 5 + 4 = 9
	 Similarly, (13, 5, 38) → 13 + 52 = 13 + 25 = 38
	 Similarly, (14, 3, ?) → 14 + 32 = 14 + 9 = 23
15.	 Option (3) is correct.
	 Given code:
	 ‘book’ is called ‘pen’
	 ‘pen’ is called ‘notebook’
	 ‘notebook’ is called ‘bag’, and
	 ‘bag’ is called ‘school’, then ?

Word Called
book pen
pen notebook
notebook bag
bag school

	 We know that we usually write in ‘notebook’.
	 Hence, ‘notebook’ is called ‘bag’.
	 Hence, the correct answer is “Bag”.
16.	 Option (2) is correct.

	 The embedded figure is shown by red  
coloured lines:

17.	 Option (3) is correct.
	 The words given represent the fruit  

germination process step by step.
	 Seed → Germination → Plant → Flower → Fruit
	 3. Seed
	 2. Germination
	 1. Plant
	 5. Flower
	 4. Fruit
	 The seed sown will germinate and the plant grows, the flower 

will flourish then fruits are obtained from flowers.
	 Hence, the correct answer is “3, 2, 1, 5, 4”.
18.	 Option (1) is correct.
	 Given series: TMKB, CLNU, VOMD, ___, XQOF

T M K B C L N U V O M D E N P W X Q O F

+2
+2

+2
+2

+2
+2

+2

+2
+2

+2
+2

	 ENPW, is the correct answer.
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19. Option (3) is correct.

Symbol in Diagram Meaning
Female

Male

Married couple
Siblings

Diff	erence	of	a	generation

Family tree:

A B

D

E

C

Hence, D is the mother of A.
20. Option (2) is correct.

Given expression: 5 : 150 :: 8 : ?
5 : 150
53	+	52	→	125	+	25	=	150
Similarly, 8 : ?
83	+	82	→	512	+	64	=	576

21. Option (1) is correct.
 Cost price of book = ` 40
	 Profi	t	percentage	=	25%

∴  Selling price of book = 
40 125

100
×

 = ` 50

  Now, new C.P. of book = 40 110
100
×  = ` 44

∴ Now, new selling price = 
44 125

100
×

 = ` 55

22. Option (3) is correct.

BLA$%@T10U

In the mirror image left becomes right and right becomes left. 
Hence, 

BLA$%@T10U

23. Option (1) is correct.
Given series: 1, 5, 3, 2, 10, 6, 4, 15, 9, 8, ?, 12
Given series is the combination of 3 series as shown below:

×2
×2

×2

1 5 3 2 10

+5
+5

+5

+3

+3

+3

6 4 15 9 8 20 12

Hence, 20 is the correct answer.
24. Option (2) is correct.

Total number of students in class = 64
Komal’s rank is 6 positions lower 
(i.e., towards the bottom) than her 
friend Shikha, who is at the 59th 
position from the end. Hence,

Position of Komal from bottom = Position of Shikha – 6 = 59 – 
6 = 53
Position of Komal = Number of students – Position of Komal 
from bottom + 1
Position of Komal = 64 – 53 + 1
Position of Komal = 65 – 53
Position of Komal = 12th position.

25. Option (1) is correct.

Following the pattern and the symmetry. Hence,

26. Option (3) is correct.
Given code:
‘A & B’ means ‘A is the sister of B’.
‘A	%	B’	means	‘A	is	the	brother	of	B’.
‘A $ B’ means ‘A is the mother of B’.
‘A # B’ means ‘A is the wife of B’.
Then,
U	$	Q	&	Y	%	D	$	S#	K,	means:
According to the given expression: 
where “ – ” shows female, “+” 
shows male, single line for siblings 
and double line for spouse. 
So, according to above diagram, Y is the son of U. 

27. Option (2) is correct.
Given expression: OESTD : UAVXI :: UISRY : ?
OESTD : UAVXI

O E S T D

U A V X I

+6 –4 +3 +4 +5

Similarly, UISRY : ?
U I S R Y

A E V V D

+6 –4 +3 +4 +5

28. Option (1) is correct.
(1)  A is taller than B and E is shorter than B but taller than D.
 A > B > E >D
(2) C and D are of equal height.
 A > B > ED = C
(3) F is shorter than C, who is shorter than B.
 A > B > E > D = C > F
Hence, ‘F’ is the shortest among all.
Hence, the correct answer is “F”.

29. Option (1) is correct.
Symbol in  Diagram Meaning

Female

Male
Married couple
Siblings
Diff	erence	of	a	generation

Family tree:

Pointing
towards

Rahul

Benkat

Benkat’s
father

Hence, Benkat is the father of Rahul.

U–

Y+ D–

S– K+

Q–

From
bottom

Shikha

Komal 53rd

59th
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30.	 Option (3) is correct.
North

West East

500 mtr
500 mtr

250 mtr

Tamanna’s
friends
house

Tamanna’s
house

South
	 Hence, Tamanna’s house is in south-east from her friend’s house.
	 Hence, the correct answer is “South-East”.
31.	 Option (2) is correct.
	 The sitting arrangement would be as follows:

P
U

T
Q

S

R

	 Hence, P is sitting opposite of T.
32.	 Option (2) is correct.
	 The given words represent the process of printing information 

present in a document file which is present in a computer.
	 Select the content from the source → Copy the content → Paste 

the content in a file → Save the file → Print the saved file
	 5. Select
	 2. Copy
	 1. Paste
	 3. Save
	 4. Print
	 Hence, the correct answer is “5, 2, 1, 3, 4”.
33.	 Option (3) is correct.
	 By checking all options:
	 1. BKYP

Opposite

Opposite

B K Y P

	 2. GDTW
Opposite

Opposite

G D T W

	 3. SXHD
Opposite

Opposite

S X H D

	 4. XJCQ
Opposite

Opposite

X J C Q

	 Hence, SXHD is different from other 3 alternatives.

34.	 Option (1) is correct.

tables chairs beds goods

	 Conclusions:
	 I. 	Some chairs are goods → True (As Some chairs are beds and 

All beds are goods so, Some chairs are goods is true)
	 II. 	Some goods are not beds → False (it is possible but not definite)
	 Hence, Only conclusion I follows.
35.	 Option (1) is correct.
	 Given series: 1, 8, 16, 27, 43, 66, 98, ?

1 8 16 27 43 66 98

+7 +8 +11 +16 +23 +32 +43

+1 +3 +5 +7 +9 +11

141

36.	 Option (3) is correct.

	 Follow the pattern and the symmetry. Hence,

37.	 Option (1) is correct.
D J O T Y

+6 +5 +5 +5 
C H M R W

+5 +5 +5 +5 
D I N S X

+5 +5 +5 +5 
B G L Q V

+5 +5 +5 +5 
	 Hence, DJOTY is a different letter cluster.
38.	 Option (4) is correct.
	 Given expression: GKNR : SOLH :: MNGB : ?
	 GKNR : SOLH

S O L H 

T P M I 

G K N R 

O
pp

os
ite

O
pp

os
ite

O
pp

os
ite

O
pp

os
ite

–1 –1 –1 –1

	 Similarly, MNGB : ?

M L S X 

N M T Y 

M N G B 

O
pp

os
ite

O
pp

os
ite

O
pp

os
ite

O
pp

os
ite

–1 –1 –1 –1
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39.	 Option (2) is correct.
	 ‘<’ means ‘multiplication’,
	 ‘×’ means ‘subtraction’,
	 ‘÷’ means ‘addition’, and
	 ‘+’ means ‘division’, then the value of the given expression.
	 	 5 ÷ 3 < 2 + (9 + 3) × 2 = ?
	 	 5 + 3 × 2 + (9 ÷ 3) – 2 = ?
	 Using BODMAS
	 	 5 + 3 – 2 + (3) – 2 = ?
	 	 8 – 1 – 2 = ?
	 	 5 = ?
40.	 Option (3) is correct.
	 The sum of the scores obtained by Ram and his two friends in 

an exam is 60% of the sum of the maximum marks for the exam 
for all three of them

	 The ratio of their obtained marks is 4 : 5 : 6
	 Ratio of Ram : Ram’s first friend : Ram’s second friend  

= 4 : 5 : 6
	 Let the sum of maximum marks for the exam for all three of 

them = 3M
	 Total sum of marks obtained = 4x + 5x + 6x
	 Total sum of marks obtained = 15x
	 Sum of the scores obtained by Ram and his two friends in an 

exam is 60%.
	 Total sum of marks obtained = Sum of the scores obtained by 

Ram and his two friends in an exam is 60% of the sum of the 
max marks

	 ⇒ 15x = 60% × 3m
	 ⇒ x = 4% × 3M
	 ⇒ x = 3M/25
	 ⇒ Percentage of marks scored by Ram = ((4 × 3M/25 ) ÷ M) × 100
	 Percentage of marks scored by Ram = (12/25) × 100
	 Percentage of marks scored by Ram = 48%
	 ⇒ Percentage of marks scored by Ram’s first friend  

= ((5 × 3M/25 ) ÷ M) × 100
	 Percentage of marks scored by Ram’s first friend = (15/25) × 100
	 Percentage of marks scored by Ram’s first friend = 60%
	 ⇒ Percentage of marks scored by Ram’s second friend  

= ((6 × 3M/25 ) ÷ M) × 100
	 Percentage of marks scored by Ram’s second friend  

= (18/25) × 100
	 Percentage of marks scored by Ram’s second friend = 72%
	 Here, Only Ram’s second friend has scored more than 70% i.e., 

72%
	 Hence, the correct answer is “One”.
41.	 Option (1) is correct.

Vegetable

Potato Fruits

	 Conclusions:
	 I. 	Potato is a fruit → False (it is possible but not definite)
	 II. 	Potato is not a fruit → False (it is possible but not definite)
	 III. 	All vegetables are fruits → False (it is possible but not 

definite)
	 IV. 	Some vegetables are not fruits → False (it is possible but 

not definite)
	 Hence, “None of the conclusions follow”.

42.	 Option (3) is correct.

Sun

100 mtr

House

50 mtr

60 mtr

40 mtr

Market

W E

S

N

	 South-east direction.
43.	 Option (3) is correct.
	 Solving by options:
	 Considering option 3 and
	 After inserting the mathematical operators in the given equation 

the equation is as follows: 
	 12 + 4 × 3 = 24
	 12 + 4 × 3 = 24
	 12 + 12 = 24
	 → 24 = 24
	 LHS = RHS
44.	 Option (3) is correct.
	 Given series: ACT, BAW, CYZ, ___, EUF

A C T

B A W

C Y Z

D W C

E U F

+1 –2 +3

+1 –2 +3

+1 –2 +3

+1 –2 +3

45.	 Option (2) is correct.

@ $ $

$ $

& % %

%

&

S @ @

@ @

% & &

&

%
	 Follow the pattern and the symmetry. Hence, 

$ %

@ &
46.	 Option (2) is correct.
	 Given series: EBA, ____, UJI, ONO, IRU

Preceding
vowel

Preceding
vowel

Preceding
vowel

Preceding
vowel

E A U O I

B F J N R

A E I O U
next

vowel
next

vowel
next

vowel
next

vowel

+4 +4 +4 +4

47.	 Option (3) is correct.
	 In the given word, consonant are added with +3.
	 In the given word, vowels are subtracted with –3.
	 ‘SOUP’ is written as ‘VLRS’ 
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S O U P

V L R S

+3 –3 –3 +3

	  ‘BACK’ is written as ‘EXFN’.

B A C K

E X F N
+3 –3 +3 +3

	 ‘TYPE’ can be written as:

T Y P E

W B S B

+3 +3 +3 –3

	 Hence, WBSB is the correct option.
48.	 Option (3) is correct.

Bicycles

Forest

Computer

	 Computers, bicycles and forest are not related to each other in 
any way.

49.	 Option (2) is correct.
	 Given words: Mothers, doctors, women

50.	 Option (2) is correct.
	When the petrol prices increased by 25%. Yogesh reduced his travel 
so as to keep his monthly expenses on petrol the same as earlier.
Let us consider, Cost of petrol = Rs. 100
	When the petrol prices increased by 25%.
100 + 25% = 125/-
	So, the cost of petrol after 25% increased = 125/-
	Percentage reduced by Yogesh to travel = ((125 – 100) ÷ 125) × 100
	Percentage reduced by Yogesh to travel = 25 ÷ 125 × 100
	Percentage reduced by Yogesh to travel = 0.2 × 100
	Percentage reduced by Yogesh to travel = 20%
	Hence, the correct answer is 20%
Shortcut: 
	Petrol price is increased by 25% or 1/4.
	Percentage reduced by Yogesh to travel = 1/(4+1) = 1/5 or 20%
51.	 Option (3) is correct.
	The Election Commission of India conducts the election of the 
Vice-President of India by Article 324 of the Constitution. The 
Election Commission is authorised under Article 324 of the Indian 
Constitution to direct, control, and conduct elections for all seats in 
Parliament, for all state legislatures, and for the President and Vice 
President. According to Article 324 of the Constitution, an Election 
Commission made up of ‘the Chief Election Commissioner and such 
number of other Election Commissioners, if any,’ as the President 
may from time to time fix, is responsible for the ‘superintendence, 
direction, and control of elections.’

52.	 Option (2) is correct.
	The Indian economy is composed of eight main industrial 
sectors. The Office of Economic Advisor within the Department 
for Promotion of Industry and Internal Trade publishes the index 
of the Eight-core Industries. The index depicts the output in 
various sectors. Coal, natural gas, crude oil, refinery products, 
steel, fertilizers, electricity, cement are the eight core industries. 
Information technology is NOT considered a core industry 
to compute the Index of Industrial Production (IIP), which is 
weighted by eight core industries and accounts for around 40% 
of its weight.
53.	 Option (2) is correct.
	In May 2020, Bejan Daruwala passed away. An astrology columnist 
and English professor from India, Bejan Jehanjir Daruwalla. 
Daruwalla used several different divination techniques and was a 
devotee of Ganesha.
54.	 Option (2) is correct.
	Ovules are tiny, bead-like objects found inside the flower’s ovary. A 
flower’s male reproductive component is the stamen. The sepal is a 
leaf-like structure that is unique to flowering plants, or angiosperms. 
The leaves that encircle a flower’s reproductive organs are known 
as petals.
55.	 Option (1) is correct.
	Thomas Bach was appointed as the president of  IOC. He will begin 
serving as IOC President for a second time, which will last until 
2025. Out of the 94 valid votes, the 67-year-old German received 
93 yes votes and 1 no vote. In 2013, Bach was selected to serve an 
initial eight-year term as IOC President. From 2000 to 2004, 2006, 
and from 2010 until he was elected IOC President in September 
2013, he was the IOC Vice-President.
56.	 Option (4) is correct.
	Following the sports policy in many nations, the Mizoram Cabinet 
recently gave industry status to sports as lockdown was gradually 
lifted. This choice is anticipated to encourage the creation of jobs 
in the state. The State government had been advised to award the 
status by the Department of Sports and Youth Services. Football 
players from Mizoram play for several prestigious clubs.
57.	 Option (1) is correct.
	The Mattancherry Palace sometimes referred to as the Dutch Palace, 
is situated in Kochi (Cochin), Kerala, India, in the neighbourhood 
of Mattancherry. It is a well-liked tourist destination recognised for 
its distinctive architecture and historical importance.
58.	 Option (4) is correct.
	The epic poem Padmavat was written in the Middle Ages by Malik 
Muhammad Jayasi. Although Padmavat was originally written in 
the Persian Nastalq script, it was later translated into the Hindustani 
language of Awadhi. Alauddin Khalji, the Delhi Sultan, had a 
romantic interest in the stunning Padmavati, the Queen of Chittor, 
in this fictional allegory.
59.	 Option (1) is correct.
	Major Suman Gawani, an officer in the Indian Army and a female 
peacekeeper has been chosen to receive the UN Military Gender 
Advocate of the Year Award. This is a first. Suman Gawani is being 
honoured for her excellent contribution to peacekeeping efforts 
while serving with the United Nations Mission in South Sudan 
(UNMISS). The award, which was established in 2016, recognises 
military peacekeepers who have worked hard to advance the UN’s 
principles on women, peace, and security in peace operations and 
have been nominated by the heads of peace operations and force 
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commanders. Suman Gawani, a native of the Indian town of Pokhara 
in the Tehri Garhwal region, joined the Indian Army in 2011 after 
completing the Officers Training Academy. She eventually enlisted 
in the Army Signal Corps.
60.	 Option (4) is correct.
	Luxembourg becomes the first nation in the world to offer free 
public transit for all. In 2019, it eliminated fares for buses, trams, 
and trains. The Luxembourgian government made public transit 
free for everyone under 20 years old in 2018.
61.	 Option (4) is correct.
	As of May 2020, Yusuff Ali MA serves as the leader of the Lulu 
group. The group is based out of the UAE. It would establish a food 
processing facility in Srinagar to source a variety of agricultural 
goods from Jammu and Kashmir. Lulu Group and Fruit Master 
Agro Fresh Jammu and Kashmir signed a Memorandum of 
Understanding. It has been agreed that apples and other fruits will 
be supplied to Lulu Group supermarkets located throughout the 
Gulf States.
62.	 Option (3) is correct.
	Chuni Goswami was a professional Indian football player, and the 
Indian Postal Department has released a commemorative stamp 
in his honour. The Indian Postal Department celebrated Chuni 
Goswami, a legend in Indian football who helped his country win 
the gold medal in the 1962 Asian Games in Bangkok. On his 82nd 
birthday (January 15, 2020), the Dept. released a postage stamp. 
After the late Gostho Paul (1998) and the late Dr Talimeren Ao 
(2018), Chuni is the third Indian footballer whose name has been 
featured on a postage stamp.
63.	 Option (3) is correct.
	On the Mohs Scale, orthoclase has a hardness of 6, while apatite 
has a hardness of 5. As a result, orthoclase is a mineral that is harder 
than apatite.
64.	 Option (2) is correct.
	Veeranatyam (Veera, which means bold, and Natyam, which means 
dance) is a traditional dance with religious undertones from the 
state of Andhra Pradesh. It is also known as the Dance of the Bold. 
Veeranatyam was originally a ritual performed as a devotion to 
Shiva in Shiva (Shaivite) temples. 
65.	 Option (2) is correct.
	An influential Indian philosopher from the 20th century M.N. 
Roy established the Communist Party in Mexico in 1917. He was 
referred to as the ‘Father of Indian Communism’ and was regarded 
as India’s first revolutionary figurehead. Roy got his start in politics 
as a radical nationalist who thought an armed uprising was necessary 
and that bombs and guns should be worshipped. He became well-
known within the communist movement. He played a key role in 
getting weapons from Germany during World War I for an uprising 
in India. Later in life, he turned into a political exile and travelled 
to countries including Germany, Mexico, Russia, and the United 
States using various aliases and political alterations. After being 
freed in 1936, Roy joined the Indian National Congress. He left the 
party later that year as a result of Congress’s hesitation to support 
the British in World War II. To advance the Indian Renaissance 
Movement, Roy established the Indian Renaissance Institute in 
Dehradun in 1946.
66.	 Option (4) is correct.
	The Ravi River is the site of the Chamera Dam. It is situated in the 
Chamba district of the Indian state of Himachal Pradesh, close to 
the town of Dalhousie. Chamera Lake serves as the dam’s reservoir.

67.	 Option (4) is correct.
	Every year on May 16, Sikkim commemorates its statehood 
day. It commemorates the day in 1975 when Sikkim, which had 
previously been a monarchy, became India’s 22nd state. In 1950, 
the Indo-Sikkimese Treaty was concluded. As a result, India 
gained protectorate status over Sikkim. Before this, Sikkim was 
governed by the Namgyal dynasty until 1975. Sikkim has one 
Lok Sabha representative and one Rajya Sabha representative. 
Green imperial pigeon, state bird. Khangchendzonga National 
Park is the national park.
68.	 Option (4) is correct.
	Tyrosine, glycine, and ornithine are all types of amino acids in the 
context of nutrition. The building components of proteins are amino 
acids. In nature, there are more than 300 amino acids, yet only 20 of 
them combine to produce proteins. The 20 amino acids are referred 
to as the 20 bioprotein alphabets. Protein is made up of 20 different 
types of amino acids and is a heteropolymer.
69.	 Option (2) is correct.
	The author of the book is Arundhati Roy. Azadi is a collection 
of nine articles that were given as public lectures between 2018 
and 2020 and some of which were written for journals and other 
periodicals. The writings are harshly critical of Prime Minister 
Narendra Modi and the network of organisations that support his 
government. The essays primarily discuss the current political 
unrest in India, including, but not limited to, mob lynchings, attacks 
on minorities, the Kashmir issue, the Assam crisis, demonetization, 
CAA-NPR-NRC, activist arrests, the plot behind the Pulwama and 
Balakot attacks, and poor pandemic management. Arundhati Roy is 
a political activist, writer, and author. In 1997, her book The God of 
Small Things took home the Booker Prize.
70.	 Option (3) is correct.
	Guru Arjun Dev guided the construction of the Golden Temple. He 
was the fifth Sikh Guru and is considered to be one of the most 
important figures in Sikh history. Guru Arjun Dev was born in 1563 
in Goindwal, Punjab, India. He was the son of Guru Ram Das, the 
fourth Sikh Guru. Guru Arjun Dev was a learned man and a gifted 
poet. He compiled the Adi Granth, the Sikh holy book. Guru Arjun 
Dev was also a great administrator and he helped to expand the Sikh 
faith. He was martyred in 1606 by the Mughal emperor Jahangir.
71.	 Option (3) is correct.
	Fungi are the subject of mycology. It includes all aspects of the 
study of fungi from taxonomy to morphology to ecology, genetics, 
and biochemistry.
72.	 Option (2) is correct.
	The Protection of Human Rights Ordinance of September 28, 
1993, established the National Human Rights Commission of India 
(abbreviated as NHRC), a statutory entity, on October 12, 1993. 
The Protection of Human Rights Act of 1993 (PHRA) gave it legal 
support.
73.	 Option (4) is correct.
	The largest and longest lake in Kerala is Vembanad. Three names 
are given to Vembanad Lake: Lake Punnamada in Kuttanad. 
Kochi’s Cochi Lake. Lake Vembanadu in Kottayam.
74.	 Option (3) is correct.
	Entamoeba histolytica is a protozoan parasite that causes the 
intestinal infection known as amebiasis, sometimes known as 
amoebic dysentery. This parasite is a type of single-celled organism 
known as an amoeba. Amebiasis can result from consuming food 
or water infected with Entamoeba histolytica cysts, and symptoms 
include loose stools, abdominal pain, and diarrhoea.
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75.	 Option (3) is correct.
	The largest yearly cultural festival held by the Manipur Department 
of Tourism is the Sangai Festival. It is observed in November. 
Every year, it is observed from November 21st to November 30th. 
The Sangai festival was once known as the Tourism Festival. Since 
2010, the event has gone by the moniker Sangai Festival. Events for 
the Sangai Festival have been taking place in Mao Ukhrul, Keibul 
Lamjao, Khuman Lampak, and Hapta Kangjeibung since 2017.
76.	 Option (3) is correct.
	Kavi Bilhana, a poet from Kashmir, lived in the eleventh century. 
His Caurapancasika collection of love poetry is well known. He 
was designated as Vidyapathi by Western Chalukya Empire King 
Vikramaditya VI. By dedicating the epic Vikramankadevacharita to 
his sponsor, Bilhana paid tribute to him.
77.	 Option (1) is correct.
	The “cash reserve ratio” (CRR), which is mandated by the RBI for 
every commercial bank in India, is the minimum amount of deposits 
that each bank must hold in reserve. The CRR must be determined 
based on RBI regulations. A portion of the bank’s deposit is kept 
secure by the Central Bank because of the cash reserve ratio. One 
of the other objectives of CRR is to control inflation. The RBI raises 
the CRR to reduce the amount of cash available to banks for loan 
approvals when there is severe economic inflation. It limits the 
flow of money through the economy, which lowers investment and 
inflation. The repo rate is now set at 4.00%, while the reverse repo 
rate is set at 3.35%, by the monetary policy that was announced on 
September 30th, 2022. Both the bank rate and the marginal standing 
facility (MSF) rate are currently 4.25%. The CRR and SLR rates are 
respectively 4.50% and 18.00%.
78.	 Option (3) is correct.
	Manganese has the highest electrical resistivity at 20°C, as compared 
to the other three substances. The electrical resistivity of manganese is 
1.84 × 10–6 Ωm, while the electrical resistivity of iron is 10.0 × 10–8 
Ωm, the electrical resistivity of chromium is 12.9 × 10–8 Ωm, and the 
electrical resistivity of mercury is 94.0 × 10–8 Ωm.
	Electrical resistivity is a measure of how difficult it is for an electric 
current to flow through a material. A material with high electrical 
resistivity is a poor conductor of electricity, while a material with 
low electrical resistivity is a good conductor of electricity.
	Manganese is a poor conductor of electricity, which is why it has a 
high electrical resistivity. This property makes manganese useful for 
applications where it is important to prevent the flow of electricity, 
such as in fuses and circuit breakers.
79.	 Option (1) is correct.
	Article 330 states that seats in the House of the People must be 
reserved for the following groups: Scheduled Castes; Scheduled 
Tribes, except for Scheduled Tribes in the autonomous districts of 
Assam; and Scheduled Tribes in Assam’s autonomous districts. The 
number of seats allotted to any State or Union territory’s Scheduled 
Castes or Scheduled Tribes under clause (1) shall bear, as nearly as 
possible, the same proportion to the total number of seats allotted 
to that State or Union territory in the House of the People as the 
population of those Scheduled Castes or Scheduled Tribes in that 
State or Union territory or part of that State or Union territory, as the 
case may be. Regardless of what is stated in clause (2), the number 
of seats reserved in the House of the People for the Scheduled 
Tribes in the autonomous districts of Assam shall bear to the total 
number of seats allotted to that State a proportion not less than the 
Scheduled Tribes’ population in the said autonomous districts bears 
to the total population of the State.
80.	 Option (4) is correct.
	A language is considered to be classical if it possesses a sizable and 
extensive body of written literature in addition to its independent 
literary history. The construction of study centres and the provision 

of international awards for its scholars are benefits of classical 
languages. The term “Classical” is currently applied to six 
languages: Tamil (announced in 2004), Sanskrit (2005), Kannada 
(2008), Telugu (2008), Malayalam (2013), and Odia (2014).
81.	 Option (3) is correct.
	To entice business to the region, the first-ever Food Processing 
Summit was hosted in Union Territory Ladakh. This summit was 
organised by the UT Administration of Ladakh, the Ministry of 
Food Processing Industries, and the Ministry of Commerce and 
Industry. For agricultural products like buckwheat and barley as 
well as horticultural crops like apricot, seabuckthorn, and apple, 
Ladakh has a significant amount of potential for investment in 
the food processing industries. The event’s goal was to motivate 
entrepreneurs to find a StartUp to seize the potential in Ladakh’s 
food processing sectors.
82.	 Option (4) is correct.
	Osmium is the rarest stable element discovered in the Earth’s crust. 
Its symbol is Os, and its atomic number is 76. It is glossy, blue-
grey, or blue-black and a member of the platinum transition metal 
family. It has the fourth-highest melting point of all the elements 
and is extremely hard and brittle. Osmium is the densest naturally 
occurring element. It is widely found in nature as an alloy or in 
its pure form, particularly in platinum ores. It is utilised to make 
incredibly hard alloys for fountain pen tips, instrument pivots, 
and electrical connections. Additionally, it acts as a catalyst in the 
chemical industry.
83.	 Option (1) is correct.
	The Goriganga, also known as the Sarda or Saryu River, rises in 
the Milam glacier of the Nepal Himalayas. It is known as Kali or 
Chauk as it joins the Ghaghara along the Indo-Nepal border. Before 
emptying into the Sharda River near Pancheshwar at the India–
Nepal border, it passes through the cities of Kapkot, Bageshwar, 
and Seraghat. In Sitapur District, Uttar Pradesh, the Sharda River 
merges with the Ghaghara River. In India, Lower Ghaghara is also 
referred to as Sarayu. Particularly as it passes through Ayodhya, 
the city where Rama was born. The ancient Indian epic Ramayana 
makes numerous mentions of the Saryu river.
84.	 Option (3) is correct.
	In the fourth century BC, Chandragupta Maurya founded the 
Mauryan Empire. The conquest of the Indo-Gangetic Plain led 
to the centralization of the Maurya Empire. Pataliputra served 
as its capital. Chanakya, the author of Arthashastra, assisted 
Chandragupta Maurya in gathering an army. And he overthrew the 
Nanda Empire in about 322 BCE. He soon expanded his power by 
assuming the satrapies that Alexander the Great left behind. The 
empire held total authority over northwest India by 317 BCE. Later, 
the Mauryan Empire defeated Seleucus I, a diadochus and the 
founder of the Seleucid Empire, and conquered the territory west of 
the Indus River. This victory ended the Seleucid-Mauryan struggle. 
He held power from 321 and 297 BC. 
85.	 Option (3) is correct.
	Due to a reaction with the sulphur compounds in the air, silver 
objects turn black after being exposed to the air. The silver object 
tarnishes and takes on a black appearance as a result of this reaction, 
which creates a coating of silver sulphide (Ag2S) on its surface. 
This tarnishing process can be sped up by the presence of sulphur 
compounds in the air, such as (SO2) and hydrogen sulphide (H2S).
86.	 Option (3) is correct.
	The enormous merger of 10 PSBs took place on April 1st, 2020, the 
Reserve Bank of India declared in a circular. All Andhra Bank and 
Corporation Bank branches will operate as Union Bank of India 
branches starting on April 1st, 2020. Customers of Corporation 
Bank and Andhra Bank will be considered Union Bank of India 
clients, along with their depositors. Indian Union Bank was born on 
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November 11th, 1919, Corporate: Mumbai A. Manimekhalai is the 
current CEO.
87.	 Option (4) is correct.
	Glycolysis is the process of converting glucose into pyruvate within 
a cell’s cytoplasm. Pyruvate can enter mitochondria during aerobic 
conditions and join the citric acid cycle, where it creates reducing 
equivalents in the form of NADH and FADH2. These reducing 
equivalents are subsequently sent to the electron transport chain, 
resulting in the production of 32 ATP per molecule of glucose. 
Inadequate tissue oxygenation prevents oxidative phosphorylation 
because oxygen serves as the final electron acceptor in the electron 
transport chain. Pyruvate has a distinct outcome in anaerobic 
environments. Pyruvate is changed into lactate by the cytosolic 
enzyme lactate dehydrogenase instead of going into mitochondria. 
This process also allows for the renewal of NAD+ from NADH. 
It takes the oxidising cofactor NAD+ to maintain the flow of 
glucose through glycolysis. As each glucose molecule yields two 
ATP, glycolysis offers a direct method of generating energy in 
the absence of oxygen. Anaerobic glycolysis is the term used to 
describe the process of breaking down glucose without the presence 
of oxygen.
88.	 Option (2) is correct.
	Jahangir was the fourth Mughal emperor. He ruled from 1605 till 
his death in 1627. His name is derived from the Indian Sufi saint 
Salim Chishti. Jahangir married Noor Jahan, the wazir Ghiyas 
Beg’s widowed daughter. Additionally, he gave his father-in-law 
the moniker Itmad-ud-doula, which means ‘Pillar of the Empire.’ 
Nur Jahan founded her organisation, which she called Nur 
Jahan’s Junta, not long after being married. Her father Itimad-ud-
daula, mother Asmat Begum, and Prince Khurram were all there. 
Each member of this group was intelligent and held significant 
government positions.
89.	 Option (3) is correct.
	A Memorandum of Understanding (MoU) was signed by the state 
of Gujarat and Cerestra Managers Private Limited to create the 
Gujarat-Special Education Region (G-SER) in the Dholera Special 
Investment Region. A 1,000-acre education hub with possibilities 
for growth to 5,000 acres will be created as the G-SER. Athletic 
facilities and student housing will also be included. Investment in 
the G-SER project will speed up the state’s economic development 
and create job opportunities. Along the Delhi-Mumbai Industrial 
Corridor, a greenfield industrial city called Dholera SIR is being 
built about 100 km from Ahmedabad. The first greenfield industrial 
city to accommodate Industry 4.0 is Dholera.
90.	 Option (4) is correct.
	Basanti Devi Bisht is a well-known folk singer from Uttarakhand. 
She became well-known for being the first woman to perform in the 
Jagar folk style of Uttarakhand. You can call on gods by singing in 
the Jagar style. Basanti Bisht defied convention and became a well-
known performer of the song, which is typically sung by men. She 
was awarded the Padma Shri title in 2017.
91.	 Option (1) is correct.
	Ramniklal Solanki, a journalist and newspaper editor, is of Indian 
and British descent. He established the Eastern Eye newspaper. 
Asian Media Group (AMG) and the Garavi Gujarat Newsweekly 
were both founded by him, and he served as its head editor. He 
was awarded an OBE and a CBE by the Queen in 1997 and 2007, 
respectively.
92.	 Option (1) is correct.
	Lewis Hamilton, the reigning Formula 1 world champion, has been 
chosen as the BBC Sports Personality of the Year 2020. He was one 
of the greatest drivers to ever compete in Formula One, matching 
Michael Schumacher’s record of seven world championships with 
his fourth straight victory in 2020. Hamilton has received the title 
of Sports Personality of the Year twice; the first time was in 2014.

93.	 Option (3) is correct.
	The famous Shivala Teja Singh Temple is located in the city of 
Sialkot in the Punjab province of Pakistan. The temple was erected 
by Teja Singh. Shiva is honoured by having it. The temple was 
sealed in 1947 during the Partition. In 1992, criminals partially 
demolished the temple. Hindu community groups in the area urged 
the Pakistani government to expedite the renovations in 2015. 
After 72 years, the Hindu temple was reopened by Pakistan’s prime 
minister, Imran Khan. The Pakistani government repaired and 
formally handed over the centuries-old Shawala Teja Singh Temple 
to the Pakistan Hindu Council in 2019. This was done to permit 
pilgrim visits and other rituals.
94.	 Option (4) is correct.
	The powers enjoyed and the functions performed by the President 
can be studied under the following heads: Executive powers. 
Legislative powers. Financial powers. Judicial powers. Diplomatic 
powers. Military powers. Emergency powers. With the help of 
legislative power President can make regulations for the peace, 
progress and good government of the Andaman and Nicobar Island, 
Lakshadweep, Dadra Nagar Haveli, and Daman and Diu. In the case 
of Puducherry also, the President can legislate by making regulation 
but only when the assembly is suspended or dissolved. 
95.	 Option (3) is correct.
	Nepali is Sikkim’s official language. Gangtok is home. Red panda, 
the official animal. Blood Pheasant, the state bird. Rhododendron, 
the state tree. Dendrobium nobile is the official flower.
96.	 Option (3) is correct.
	One of India’s oldest mountain ranges is the Aravali Range. It is 
a section of the old mountain that has been eroded. It is a plate 
tectonic mountain fold. It is a mountain range in Northwestern 
India that extends 692 km to the southwest. With a height of 1722 
metres, Guru Shikhar is the highest mountain in this range. It begins 
close to Delhi, travels through Rajasthan and Haryana, and ends in 
Gujarat. Four rivers run through this area: the Banas, Luni, Sakhi, 
and Sabarmati.
97.	 Option (2) is correct.
	Scurvy is the medical word for vitamin C deficiency. It can cause 
anaemia, fatigue, spontaneous bleeding, limb pain, body swelling, 
and in rare occasions gum ulcers and tooth loss. This is because 
vitamin C is necessary for the synthesis of collagen, an essential 
component of connective tissues. Connective tissues play a 
crucial role in the body’s support and structure, particularly in the 
development of blood vessels. The immune system, iron absorption, 
cholesterol metabolism, and other processes will all be impacted 
by a vitamin C deficiency. Patients receive vitamin C supplements 
orally or intravenously as part of the treatment.
98.	 Option (4) is correct.
	The Drukpa Lineage Himalayan Buddhist monastery known as 
Hemis Monastery is located in Hemis, Ladakh, India. Sengge 
Namgyal, the Ladakhi king, renovated it in 1672. It is 45 kilometres 
from Leh. Near the Hemis National Park, one can find the 
threatened snow leopard. The annual Hemis festival honouring 
Padmasambhava takes place in early June. Monks wear character-
appropriate clothing and vibrant, flowing robes to symbolise the 
victory of good over evil.
99.	 Option (2) is correct.
	Thierry Delaporte serves as the CEO and Managing Director 
of Wipro Limited. He is one of the founders of Life Project 4 
Youth, an organisation that helps young adults in extremely poor 
circumstances with their social and professional integration. 
Information technology, consulting, and business process services 
are provided by a multinational corporation based in India 
called Wipro Limited. On December 29, 1945, Mohamed Premji 
established the company in Amalner, India, under the name Western 
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India Vegetable Products Limited, later becoming known as Wipro. 
With the trade names Kisan, Sunflower, and Camel, it was initially 
founded as a manufacturer of refined and vegetable oils. Wipro Ltd. 
Owner- Azim Premji
	Headquarters- Bengaluru, Karnataka
Founded- 29 December 1945
100.	 Option (1) is correct.
	Majuli is a river island on the Brahmaputra River in Assam. In 2016, 
it was designated as India’s first district-level island. Majuli has 
shrunk as the neighbouring river has grown. The island is formed 
by the Brahmaputra and Kherkutia Xuti rivers, which are linked in 
the north by the Subansiri River. Majuli island may be reached via 
ferry from the city of Jorhat. It was formed as a result of changes in 
the courses of the Brahmaputra River and its tributaries, particularly 
the Lohit. Majuli is the spiritual home of Assamese neo-Vaishnavite 
culture. Majuli has been on the UNESCO Tentative List for World 
Heritage Site Nomination since 2004.
101.	 Option (3) is correct.
While going out, a mask should be worn. In passive voice, the 
subject of active voice becomes the object, and the object becomes 
the subject. Here, ‘should wear a mask’ will change to ‘a mask 
should be worn’.
102.	 Option (1) is correct.
‘Occupation’ means the work or job people do to earn money. 
The infinitive ‘to’ always takes the base form of the form, not  the 
continuous form. Thus, ‘to earning money’ will be replaced by ‘to 
earn money’.
103.	 Option (1) is correct.
Rahul said that he would start going to the office the next day. In 
indirect speech, the structure is: subject + would + be + V1 + ing 
+ object. ‘Tomorrow’ becomes ‘the next day’. ‘I’ changes to ‘he’.
104.	 Option (2) is correct.
I have been given this book by Anurag to read. The present perfect 
tense in passive voice becomes: object + has/have + been + past 
participle + by + subject.
105.	 Option (2) is correct.
A new game was started by the teacher to keep the class engaged. 
In passive voice, the subject of active voice becomes the object, 
and the object becomes the subject. The simple past tense takes the 
form: object + was/were + past participle + by + subject.
106.	 Option (3) is correct.
	By this time next week, I will be in Mumbai. By this time means at 
any time up to now. It denotes an end-point in time, that being now.
107.	 Option (4) is correct.
Draw a lotus plant and label its parts. Here, ‘their parts’ will be 
replaced by ‘its parts’. The subject is singular in number ‘a lotus 
plant’, so, the pronoun will agree with its number (its parts).
108.	 Option (4) is correct.
	The word ‘confine’ means ‘to limit an activity, person, or problem 
in some way’. Therefore, the correct synonym is ‘restraint’ and the 
antonym is ‘liberate’.
109.	 Option (2) is correct.
ACBD. The first sentence is ‘On the last day of the training, I 
received an e-mail from my training manager’. ‘She’ in (C) refers to 
(A)- ‘my training manager’. The call to her office makes the speaker 
wonder if she had done anything wrong. Then she recollected that 
once she had skipped classes to watch a movie and a football game.
110.	 Option (2) is correct.
ACDB. Both, sympathy and empathy are important in life is 
the starting sentence. ‘But of the two’ refers to ‘sympathy and 
empathy’. Thus, AC is a logical pair. The question asked in (D) has 
its answer in (B).

111.	 Option (3) is correct.
There are many advantages of working together in a group. Here, 
‘much advantages’ will be replaced by ‘many advantages’. ‘Much’ 
is used with uncountable nouns, while ‘many’ is used with plural 
countable.
112.	 Option (3) is correct.
What will happen to your family if you continue to splurge money 
like this?. ‘Happened’ will change to ‘will happen’, because this is 
a conditional sentence that is predicted for the future, then simple 
future tense will be applied to one clause.
113.	 Option (3) is correct.
You must respect every living being’s right to housing. In passive 
voice, the subject of active voice becomes the object, and the object 
becomes the subject. The sentence in passive voice will take the 
format: object + modal + V3 + be + subject.
114.	 Option (2) is correct.
	‘Modern’ implies relating to the present or recent times as opposed 
to the remote past. Therefore, the antonym is ‘ancient’.
115.	 Option (2) is correct.
The lecture given by the doctor on healthy eating habits was very 
informative. Using ‘was’ twice in a sentence implies the repetition 
of the same subject (the lecture), which is meaningless. Therefore, 
‘given’ should be used, as the sentence is written in the past tense.
116.	 Option (4) is correct.
They dismantled several old buildings to build the new hospital. In 
voice change, there is an interchange of subject and object. Simple 
past tense in active voice is: subject + V2+ object+…
117.	 Option (1) is correct.
	Being in a dangerous position. The idiom ‘Hanging by a thread/a 
hair’ is an expression used to be in a very dangerous or unstable 
situation.
118.	 Option (3) is correct.
	The word ‘harmony’ implies the combination of simultaneous 
musical notes in a chord. Therefore, the synonym is ‘peace’.
119.	 Option (4) is correct.
	The word ‘shallow’ implies ‘of little depth.’ Therefore, the antonym 
is ‘deep’.
120.	 Option (3) is correct.
What kind of change would you suggest? In passive voice, the 
subject of active voice becomes the object, and the object becomes 
the subject. The interrogative sentence in passive voice is: question 
word + modal verb + be verb + V3 + by + agent? In active voice it 
is: question word + modal verb + doer+ main verb + object?
121.	 Option (2) is correct.
The policeman said to the boys, “Go home and don’t move at night 
during the curfew period.” In direct speech, ‘said to’ changes to 
‘told’, ‘not to’ changes to ‘don’t’.
122.	 Option (1) is correct.
Anybody who is careful will keep some money in hand to meet an 
emergency during corona times. The sentence speaks of a future 
event, so simple future is used.
123.	 Option (2) is correct.
None of the soldiers could survive when trapped in the glacier. 
Here, ‘did not survive’ will be replaced by ‘could survive’. Since 
‘none’ is already used, there is no need of using double negatives 
‘did not survive’. Moreover, the subject is in third person singular, 
therefore ‘survives’ is incorrect.
124.	 Option (4) is correct.
Apple growers in Himachal Pradesh say they are harvesting a 
bumper crop this year due to good weather conditions. The part 
‘Apple growers in Himachal Pradesh says’ will be replaced by 
‘Apple growers in Himachal Pradesh say’ because the subject is 
plural in number ‘Apple growers’.
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125.	 Option (2) is correct.
The guard was given a hard push by the crowd. The part ‘had gave’ 
will be replaced by ‘was given’. The structure will be: object + was/
were + V3 + by + subject.
126.	 Option (3) is correct.
	The word ‘agile’ connotes ‘able to move quickly and easily.’ All 
options, except (3) are synonyms of the given word. The correct 
answer is: ‘lethargic’.
127.	 Option (3) is correct.
Nidhi exclaimed in disappointment that she had missed the deadline 
for sending her application again. In indirect speech, present 
perfect tense changes to past perfect tense (had missed). ‘I’ changes 
to ‘she’. Exclamatory words/ phrases changes to ‘exclaimed in 
disappointment’.
128.	 Option (1) is correct.
NDRF has alerted the states of Maharashtra and Gujarat about the 
impending cyclone. In active voice, the subject of passive voice 
becomes the object, and the object becomes the subject. The present 
perfect tense in active voice is in structure: has/have + V3 + object.
129.	 Option (3) is correct.
	The crisis was averted due to timely intervention by the government. 
The sentence is in the past tense in passive voice. The structure 
will be: object + was/were + V3 + by + subject. So, no substitution 
required.
130.	 Option (3) is correct.
As I was sitting at the back of the theatre, I couldn’t see the 
performance very well. ‘In’ will be replaced by ‘at’. ‘At’ is used to 
describe the general location/ a point.
131.	 Option (3) is correct.
	The phrase “cross that bridge when you come to it” is used to say 
that you don’t need to ponder over a situation until it really happens. 
Deal with something when it happens, and not to worry about it 
beforehand.
132.	 Option (3) is correct.
	Online crimes are on the increase so everyone needs to be careful 
and alert. The verb ‘needs’ must agree with the subject ‘everyone’, 
which is considered singular. So ‘needing’ will be replaced by 
‘needs’.
133.	 Option (2) is correct.
Vishnu’s mother said that they were leaving for the village as 
there were no jobs in the city.” Present continuous changes to Past 
continuous in direct speech. ‘We’ changes to ‘they’.
134.	 Option (3) is correct.
The foul smell coming from the nearby garbage bin was really 
unbearable. Replace ‘by’ with ‘from’. ‘Nearby’ doesn’t make sense, 
as ‘by’ is already mentioned. ‘From’ suggests a location.
135.	 Option (3) is correct.
	The idiom ‘pull oneself together’ implies ‘to become calm and 
behave normally again after being angry or upset.’
136.	 Option (1) is correct.
ADCEB. The starting sentence is (A)- A traffic policeman usually 
stands at the junction of roads. This is continued in (D)- that he 
stands on a high platform at the junction or under a flyover. His 
attire is described in (C). EB makes a logical pair because (E) states 
that he carries coloured metal sign plate. (B) emphasizes on these.
137.	 Option (2) is correct.
Hema said to her friends, “Rose is worried whether she will break 
her team’s scoring record soon.” Here, ‘would’ becomes ‘will’, and 
‘was’ becomes ‘is’.
138.	 Option (1) is correct.
Bhanu said, “We need to work this out from our angle. The pronoun 
‘they’ changes to ‘we’, ‘needed’ changes to ‘need’; ‘that’ changes 
to ‘this’.

139.	 Option (2) is correct.
	Vulnerability refers to “the quality or state of being exposed to 
the possibility of being attacked or harmed, either physically or 
emotionally.” So ‘exposed’ is a synonym. All options, except (2) 
are antonyms.
140.	 Option (4) is correct.
The doctor said to me, “Why have you disturbed me at this late 
hour?” To change into direct speech from past perfect tense, the 
verbs change into present perfect tense. ‘That’ changes to ‘this’; ‘I’ 
changes to ‘you’.
141.	 Option (1) is correct.
	Those who complete the test successfully will be moved into an 
advanced class. ‘Advanced’ means highly developed; ‘rapid’ 
implies ‘very quickly’ ‘fast’ means ‘at good speed’.
142.	 Option (1) is correct.
She said, “I am going to the theatre now.” To change into direct 
speech, past continuous tense changes to present continuous, ‘then’ 
changes to ‘now’.
143.	 Option (3) is correct.
ACBD. (A) is the first statement- The Brahman used to teach pupils 
from time to time. He had one pupil of whom he thought very highly. 
‘This young man’ in (B) refers to the pupil of whom he thought very 
highly (B). But he didn’t know what the spell could do.
144.	 Option (3) is correct.
	The town where I was born is famous for manufacturing sports 
goods. Here, ‘where’ will replace ‘there’. ‘Where’ is most 
commonly used as an adverb to define a location or position.
145.	 Option (1) is correct.
CV Raman became famous when he got the Nobel Prize, didn’t he? 
We use the same auxiliary verb in the tag as in the main sentence. 
If there is no auxiliary verb in the main sentence, we use do/did in 
the tag. If the auxiliary verb in the sentence is negative, the tag is 
affirmative.
146.	 Option (4) is correct.
	The word ‘tumult’ means ‘a state of confusion or disorder.’ All 
options except (4) are synonyms.
147.	 Option (2) is correct.
I wanted to play tennis but my parents prevented me from joining 
the school team. The word ‘prevent’ is always followed by ‘from, 
not ‘to’. So, the verb will be in the form of gerund (-ing).
148.	 Option (3) is correct.
We require an efficient electrician for changing the wiring of our 
house. The part ‘the efficient electrician’ will be substituted by 
‘an efficient electrician’. The indefinite article is preferred as the 
efficient electrician is unknown, and applies to a general one.
149.	 Option (4) is correct.
Need I wait for your approval? The part ‘Need I’ will replace ‘Need 
I to’. ‘Wait’ implies staying at a place, ‘to’ in conjunction with 
‘wait’ hardly makes sense.
150.	 Option (2) is correct.
Quarantine all the passengers of this flight for fourteen days. 
The imperative sentence in passive voice is: Let + object + be + 
past participle. To change into active voice, ‘let’ and ‘be’ will be 
removed. The verb will take its first form.
151.	 Option (3) is correct.
Mother told Ravi to wash his hands before eating. In indirect 
speech, ‘said’ to’ changes to ‘told’. The imperative sentence in 
passive voice takes ‘to’ before reporting the verb.
152.	 Option (2) is correct.
I lost my purse somewhere between my house and the metro station. 
‘Somewhere’ is the correct usage because it denotes the location is 
unknown. ‘Somewhere’ means ‘at some place’.
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153.	 Option (1) is correct.
ADBC. The first statement is ‘following at the man’s place was a 
big native dog’. (D) starts with the introduction of the dog- ‘It was 
a wolf dog, grey-coated, and not noticeably different from the wild 
wolf. Next sentence is: The animal understood and was worried by 
the great cold and knew that this was no time for travelling. BC 
forms a logical pair because ‘having understood the danger of being 
out there’ in C relates to B- ‘the animal understood and was worried 
by the great cold’.
154.	 Option (2) is correct.
	The phrase ‘in the same boat’ means ‘in a similar situation, in the 
same position.’ The phrase ‘sharing the same problem’ is correct.
155.	 Option (2) is correct.
	‘Austere’ means ‘having a plain and unadorned appearance.’ 
Therefore, the correct synonym is ‘unadorned’.
156.	 Option (1) is correct.
In addition to the problem of heavy rain, people have to worry about 
potholes on roads. Something besides the main problem, implies ‘in 
addition to’.
157.	 Option (4) is correct.
You should have reported the matter to your teacher instead of 
taking it into your own hands. We use should have + past participle 
to talk about things we regret. So, ‘reported’ is correct. Here, 
‘reports the matter’ will be replaced by ‘reported the matter’.
158.	 Option (4) is correct.
	‘Extract’ means remove or take out, especially by effort or force. 
All options, except (4) are antonyms of the given word. The correct 
answer is: withdraw.
159.	 Option (1) is correct.
Your main points (not the sub-points) must be repeated by you. The 
imperative sentence in active voice has the form: object + modal+ 
be + past participle + by + subject.
160.	 Option (3) is correct.
	The idiom ‘black sheep’ refers to a person who has done something 
bad that brings embarrassment or shame to his or her family.
161.	 Option (4) is correct.
They decided to move to Dehradun so that they could live in a 
peaceful environment. ‘Because’ is a conjunction of reason and 
cause; while ‘so that’ is used to show purpose and is mostly used 
with modals. The sentence talks of a purpose, therefore, ‘so that’ is 
appropriate.
162.	 Option (3) is correct.
Fifty dollars is a high price to pay for this shirt. When the sentence 
refers to the amount of money, then we use a singular verb. So, ‘are’ 
will be replaced by ‘is’.
163.	 Option (4) is correct.
Savita had a look at my presentation and said, “You should change 
the font. | don’t think the design matches the content. In direct 
speech, ‘told’ changes to ‘said’, and ‘me’ changes to ‘you’; ‘did 
not’ changes to ‘don’t’; ‘matched’ changes to ‘matches’.
164.	 Option (1) is correct.
	The meaning of ‘assist’ is to give usually supplementary support or 
aid to. Therefore, the correct synonym is ‘facilitate’.
165.	 Option (2) is correct.
Responsibility for the bomb attack has not been owned by anyone 
immediately. The simple past tense in passive voice is: object + was/
were + V3 + by + subject. In negative sentences, ‘no one’ changes to 
‘anyone’ and ‘not’ is added to modal verb.
166.	 Option (4) is correct.
Great quantities of animal oil come from whales, creatures of the 
sea. We use ‘from’ to refer to the place where someone or something 
starts or originates. Here, the source of animal oil is from whales.

167.	 Option (4) is correct.
Great quantities of animal oil come from whales, creatures of the 
sea, which are the largest of the animals remaining in the world. The 
relative pronoun ‘which’ is used to denote non-living things.
168.	 Option (3) is correct.
To protect the whales from the cold of the Artic seas,…We use “to” 
when the reason or purpose is a verb (protect).
169.	 Option (1) is correct.
Nature has provided them with a thick covering of fat, called 
blubber. We use the present perfect tense when we want to talk 
about unfinished actions or states or habits that started in the past 
and continue to the present. Since the passage is in the present tense 
and states facts, so we choose present over the past tense.
170.	 Option (3) is correct.
When the whale is killed, the blubber is stripped… We use ‘when’ 
as a conjunction meaning ‘at the time that’. In other words, ‘at the 
time’ the whale is killed, the blubber is stripped.
171.	 Option (4) is correct.
When the whale is killed, the blubber is stripped off and boiled 
down. ‘Off’ is used to say that something has been removed. Here, 
the blubber is removed.
172.	 Option (2) is correct.
It produces a great quantity of oil. Quantity can be used for singular 
or plural nouns that can be counted or measured.
173.	 Option (4) is correct.
It produces a great quantity of oil which can be made into food for 
human consumption. Consumption is the use of goods and services 
in an economy, or the amount of goods and services used.
174.	 Option (1) is correct.
A few other creatures yield oil, but none so much as the whale. ‘So 
much’ refers to the amount or the number of something.
175.	 Option (3) is correct.
The livers of the cod and halibut, two kinds of fish, yield nourishing 
oil. The sentence mentions two types of fish, so ‘kinds’ is 
appropriate.
176.	 Option (4) is correct.
Finland is a country of vast green forests, beautiful Baltic islands, 
windswept Arctic mountains and countless blue lakes. The adjective 
‘countless’ implies ‘too many to be counted’. The context clarifies 
that Finland is a country rich in beautiful landscapes, and abundant 
in blue lakes.
177.	 Option (1) is correct.
These pristine and picturesque landscapes provide a habitat for 
many wild animals and birds. The blank needs a plural verb, 
because the subject is plural ‘pristine and picturesque landscapes’. 
Moreover, the tense will be simple present as it states a fact.
178.	 Option (1) is correct.
These pristine and picturesque landscapes provide a habitat for 
many wild animals and birds including magnificent bears, wolves, 
eagles, cranes and swans…The correct adjective for the blank is 
‘magnificent’ (wonderful), as there is no clue to derive that bears, 
wolves, eagles were melodious or malicious (hateful).
179.	 Option (4) is correct.
These pristine and picturesque landscapes provide a habitat for 
many wild animals and birds including magnificent bears, wolves, 
eagles, cranes and swans as well as the world’s rarest seals. By rule, 
the definite article ‘the’ is positioned before the use of superlative 
adjective (rarest seals).
180.	 Option (1) is correct.
Birdwatchers flock to Finland to find species that are hard to spot 
anywhere else in Europe. ‘Species’ refers to a set of animals or 
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plants in which the members have similar characteristics to each 
other. A particular category of bird cannot be termed as ‘patterns/
samples/cases’.
181.	 Option (2) is correct.
Keen wildlife photographers also come here to enjoy excursions 
and facilities... The conjunction ‘also’ connotes in addition to, 
therefore the writer says, in addition to flocking Finland, to find 
species that are hard to spot anywhere else in Europe, they come 
here to enjoy excursions and facilities.
182.	 Option (4) is correct.
Keen wildlife photographers also come here to enjoy excursions 
and facilities that enable them to get spectacular shots of the 
amazing animals... The blank requires a pronoun in the objective 
case (plural). Therefore, ‘them’ suits the requirement.
183.	 Option (1) is correct.
Keen wildlife photographers also come here to enjoy excursions and 
facilities that enable them to get spectacular shots of the amazing 
animals in their natural settings. The blank requires an adjective to 
describe ‘settings’, so ‘natural’ is the most appropriate adjective. (2) 
is negative and hence meaningless.
184.	 Option (1) is correct.
	Some of the great places to preserve these creatures include 
Finland’s forty national parks. ‘Creatures’ is appropriate for the 
blank, as it refers to an animal; unlike other options.
185.	 Option (1) is correct.
Some of the great places to preserve these creatures include 
Finland’s forty national parks, which are open to everyone all year 
round. ‘Everyone’ is the correct indefinite pronoun.
186.	 Option (4) is correct.
The main crops of Telangana as per the passage are : maize, cotton 
and paddy because ‘Paddy production is up 93%, maize 95%, and 
cotton 74%’ The state is also making its mark as a producer of 
paddy seed.
187.	 Option (4) is correct.
	“The state is also making its mark as a producer of paddy seed” 
implies that gradually the state is making some noticeable changes 
as a producer of paddy seed. Therefore, the underlined phrase 
means being noticed or recognized as a major supplier of paddy 
fields.
188.	 Option (2) is correct.
	As explicitly stated in the line ‘The Food Corporation of India (FCl) 
has procured 52 lakh tonnes of paddy from Telangana alone, which 
is more than half of the national target of 91 lakh tonnes’ suggests 
more than half of the country’s paddy procurement. 
189.	 Option (2) is correct.
	The sentence ‘The state’s harvests have nearly doubled in a year’ 
confirms that according to the passage, in one year, the harvests in 
the state of Telangana have almost doubled. 
190.	 Option (3) is correct.
The passage focuses on impressive growth in yields of Telangana. 
Even the FCI confirms that Telangana alone, which is more than 
half of the national target of 91 lakh tonnes and the state’s increased 
paddy harvests.
	Therefore, the main idea or theme of this passage is: The state of 
Telangana has emerged as a significant contributor to the growth of 
agriculture in the country.

191.	 Option (4) is correct.
	The sentence ‘Oliver was frightened at the sight of so many 
gentlemen, which made him tremble and speak in a very low and 
hesitating voice’ corroborates the frightened feelings of Oliver.
192.	 Option (2) is correct.
	The sentences ‘‘we are the fellows to set this to rights; we’ll stop 
it all, in no time.’ So, they established the rule, that all poor people 
should be starved by a gradual process in the house’ affirm that the 
decision taken by the gentlemen was to slowly starve the boys to 
death. 
193.	 Option (3) is correct.
	The gentlemen can be regarded as cruel and uncaring on the basis 
of his own judgment – ‘the workhouse was a regular place of public 
entertainment for the poorer classes’ and his own rule – ‘ that all 
poor people should be starved by a gradual process in the house’.
194.	 Option (1) is correct.
	It is apparent from the passage that Oliver was an orphan with no 
family because it is echoed in the words of the so-called gentleman 
–‘ You know you’re an orphan, I suppose? And that you were 
brought up by the parish, don’t you?’
195.	 Option (1) is correct.
	The last sentence of the passage: ‘The water-works were asked to 
lay on an unlimited supply of water; a corn-factory asked to supply 
small quantities of oatmeal; and it was decided to issue three meals 
of thin gruel a day, with an onion twice a week, and half a roll of 
bread on Sundays’ evince that the changes to be brought about for  
the inhabitants at the workhouse were that they would be given thin 
gruel thrice a day, plenty of water to drink and half a roll of bread 
on Sundays.
196.	 Option (1) is correct.
	As apparent in the sentence ‘Ancient India also used shikai or 
shikakai (a variant of the acacia plant) as a hair and body cleanser’; 
people in ancient India used shikakai for body and hair.
197.	 Option (3) is correct.
	The statement ‘Olive oil, sweet bay (laurel) oil, sodium hydroxide 
and water are the main ingredients of this soap’ is explicitly stated. 
The advantages of Aleppo soap are ‘ moisturises and nourishes the 
skin and is purported to benefit a host of skin problems such as 
eczema, skin breakouts, inflammatory skin conditions, insect bites, 
and skin infections.’ Option (3) is proved incorrect in the sentence 
‘the ancient city of Aleppo thrived on trade for thousands of years, 
famous for being the endpoint of the illustrious Silk Road trade 
route that bridged the East and the West. It is clearly stated that 
‘After the Crusades, European nations adopted Aleppo soap and 
started producing their own variations.’
198.	 Option (1) is correct.
	The passage starts with the primary cleansing agent in ancient India 
before the advent of soap and what ancient India used as a hair and 
body cleanser. There is the mention of another soap in skin care - the 
Aleppo soap. Then it continues to mention the implementation of this 
soap in daycare routine and how , European nations adopted Aleppo 
soap and started producing their own variations. Thus, the main theme 
of the passage is: natural soaps for skincare in ancient times.
199.	 Option (1) is correct.
	It is clear from the passage that ‘lathers’ in ‘It lathers but in small 
quantities’ means to ‘foam’; ‘retaining’ in ‘retaining its original 
form’ implies ‘maintaining’, and ‘purported’ means ‘professed’.
200.	 Option (4) is correct.
	It is evidently mentioned in the passage that ‘Bay (Laurus nobilis) 
has remarkable antibacterial and antifungal properties’. Bon Etrum


